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- . 4 5 6 7 8 9 10 11 | 12 1 2 3 || B T
el o o o< o< a4 o4ao a4 <ao<a o«
<) BB IR o<1 <) a0 gl o«a) o< < a1 <1 o<1 o« <o«
gl o o< a0 a4 a4 o< <4 <1 <a < <Ao<
Bl <01 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1| <0.1 <0.1| <0.1 <0.1| <0.1
bt () HIE| <0.1) <0.1 <0.1] 0.1 <0.1 <0.1| <0.1 <0.1 <0.1| <0.1 <0.1| <0.1|<0.1 <0.1|<0.1
SEH| <001 <0.1] <0.1) <0.1) <0.1) <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
B feE| 0.82 0.68 0.66 0.69 0.72 0.76 0.74 0.75 0.76 0.76 0.73 0.85
g m i g(mg/L) BA%| 0.64 0.60 0.54 0.54 0.61 0.69 0.68 0.66 0.66 0.67 0.54 0.53/0.85 0.53]0.69
S| 0.73) 0.65 0.60 0.66] 0.68 0.72| 0.71/ 0.70| 0.71 0.70| 0.64 0.75
W H R
A IR =]
- . 4 5 6 7 8 9 10 11 | 12 1 2 3 |k | AR
el o a4 a4 a4 a0 a4 < a <4 o«
= EoOgE) REl o< o« o< o o< a0 < o< o< o<aoafoaloa o«
gl o<1 <1 < <1 <1< <1 <1 < < oA«
B €0.10 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
& BEO(BE) HiE| <001 <01 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1[<0.1 <0.1/<0.1
SEH| 0.1 <0.10 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
Him| 0.90) 0.84) 0.84 0.78/ 0.77 0.79 0.80 0.79 0.83| 0.88 0.78 0.83
% m ot ji%(mg/L) BA%| 0.73 0.75 0.73 0.70 0.74 0.72 0.73 0.74| 0.77 0.77| 0.61 0.60[0.90 0.60 0.77
SR 0.790 0.79) 0.79 0.75 0.76 0.76/ 0.75 0.76 0.80 0.82| 0.72| 0.75
gt O JH
)EJ H& | 2
i h 4 5 6 7 8 9 10 11 | 12 1 2 3 || B T
el o o < o< a4 a4 a a4 < o<a o«
@, BB K| o<1 <) o oal o«a) o< <« <a) <1 <1 <)o« <o«
o o<1 a4 a4 a4 o< <4 <1 < < <Ao<
| <0.1) <0.1 <0.1 <€0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
o] () M| <0.1) <0.1 <0.1] <0.1) <0.1 <0.1| <0.1 <0.1 <0.1| <0.1 <0.1| <0.1|<0.1 <0.1|<0.1
S| <0.10 <0.10 €0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
B I 0.64 0.66 0.67 0.69 0.71 0.71 0.72 0.72| 0.75 0.79] 0.67 0.90
g % i g(mg/w HeA%| 0.58 0.59 0.54 0.49 0.53 0.60 0.63 0.64] 0.62 0.64] 0.47  0.44[0.90 0.44 0.65
SEH| 0.61) 0.63) 0.61 0.55 0.63 0.67| 0.68 0.67| 0.67 0.69| 0.58 0.75
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5 . g 4 5 6 7 8 9 10 11 | 12 1 2 3 || AR Y
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@, BB % o< <) a0 <) o« o< < a1 <1 o<1«
o o< a4 a4 o< <4 < < < <Ao<
| <0.1) <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
o] EEO(EE) HIE| <0.1) <0.1 <0.1] <0.1) <0.1 <0.1| <0.1 <0.1 <0.1| <0.1 <0.1| <0.1|<0.1 <0.1|<0.1
S| 0.1 <0.10 €0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
B feE| 0.81 0.79 0.73 0.74 0.76 0.77 0.80 0.78/ 0.79 0.92| 0.83 0.83
g 2 i %(mg/L) HeA%| 0.75 0.73) 0.68 0.66 0.69 0.73 0.68 0.69 0.72/ 0.77| 0.54 0.52[0.92/0.52 0.73
S| 0.77) 0.76) 0.71 0.70 0.73 0.75/ 0.71| 0.72 0.75 0.82| 0.64 0.73
v E R
A [
. . 4 5 6 7 8 9 10 11 | 12 1 2 3 | &S BIK EY
BEl o o o« o<a o< o<a <) o< o< o< o<alo«<a
=) BEOE) RIE| <1 o< <) < o< <) < < < <o) o« o< oap o«
Yyl o<1 <1 < <1 <1 <1 <1 < < < <o«
e <01 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
#) FEO(BE) BAE| <001 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1[<0.1 <0.1/<0.1
SEH| 0.1 <0.10 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
I 0.77 0.77 0.75 0.78 0.79 0.80 0.83 0.84| 0.79 0.84| 0.73 0.85
iﬁ m i j%jg(mg/L) BAK| 0.720 0.71 0.68 0.69 0.71 0.75 0.75 0.75 0.72 0.72 0.43 0.59/0.85 0.43|0. 74
S| 0.75) 0.74) 0.71 0.72) 0.74 0.78 0.79 0.78 0.74 0.75 0.62| 0.76
KEE =4 —&EHIT
g4 i ek SRR ®OE %P
B oWE R MR BUAHET 1 TH ERTAREA
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2) PR R R A G KR K
P K5 R KK (£ 1)

A
i 4 5 6 7 8 9
e 0 0 0 0 0 0
— e #m (CFU/m1) | FAES 0 0 0 0 0 0
) 0 0 0 0 0 0
B = = = = = =
YN 1% AR = = = = = =
S = = = = = =
| <0.0010 <0.0010  <0.001 <0.001 <0.001  <0.001
i kK O F o b A # (mg/L) | #xIE| <0.001] <0.001| <0.001  <0.001| <0.001  <0.001
SEEJ| <0.001  <0.001  <0.001  <0.001  <0.001  <0.001
5 q] <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
g% Kk O £ o b A& ¥ (mg/l) K <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
SEH <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
BE| <0.001  <0.001 <0.001  <0.001  <0.001| <0.001
~ v kO™ E oA W meg/l) &l <0.001] <0.001 <0.001 <0.001| <0.001  <0.001
SEEJ| <0.001  <0.001  <€0.001  <0.001  <0.001  <0.001
53] 15.3 12.1 11.6 13.0 12.8 10. 6
iz i LY A 7 v (mg/L) | HfX 13.4 8.6 10. 1 8.3 8.0 9.8
SEH 14. 4 10. 4 10.8 10. 6 10. 4 10. 2
54 0.8 0.7 0.7 0.7 0.8 0.7
f e ) (Toc)  (mg/L) HIK 0.7 0.5 0.6 0.6 0.6 0.7
) 0.8 0.6 0.6 0.6 0.7 0.7
5 q] 7.56 7.58 7.58 7.59 7.59 7. 64
pH B el 7.55 7.58 7.57 7.55 7.58 7.59
S 7.56 7.58 7.58 7.57 7.58 7.62
IS BER U BELRL BEaL BEAL BEARL BEAL
B = HEh L Bl BEel Bl | BEa L Bl
I a] 0.5 0.5 0.5 0.5 <0.5 0.5
@, () &K <0.5 <0.5 <0.5 <0.5 0.5 <0.5
S <0.5 0.5 0.5 0.5 0.5 <0.5
e 0. 01 0.02 <0.01 <0.01 <0.01 0. 02
b () AR <0.01 <0.01 <0.01 <0. 01 <0. 01 <0.01
S <0. 01 0.01 <0. 01 <0. 01 <0. 01 0. 01
éf'lj ot 0.76 0.77 0.76 0.76 0.78 0. 80
i |1 i 7% H R F# (mg/L) HIK 0.74 0.72 0. 64 0.70 0. 70 0.71
H AL 0.75 0.74 0. 70 0.73 0.74 0.76
ii B 0.82 0.82 0.85 0. 80 0.82 0.83
w |7 =4 H # (mg/L) IE 0.81 0.76 0. 69 0.76 0.77 0.77
® SEH 0. 82 0.79 0.77 0.78 0. 80 0. 80
“E OB W & (KMo, 1 & & ) (mg/L) 0.5 0.5 1.0 0.7 0.8 0.5
53] 19.3 20. 1 24. 8 29.3 30. 3 25. 8
7K W (C) &K 17.7 19.9 23. 1 25. 4 26. 8 25.5
S 18.5 20. 0 24. 0 27. 4 28. 6 25. 6
S a] 37.2 36.5 40. 0 40. 6 41.3 37.2
7 JL 7 U B (mg/L) | Fi%k 37.2 32.8 34.8 33.8 34. 4 37.1
— S 37.2 34.6 37.4 37.2 37.8 37.2
fii £ (mg/L) 1.8 2.0 1.7 1.4 2.9 2.9
fi i3 e = #  (mg/L) 1.14 0.97 0.63 0. 68 1.04 0.62
e [ fie A 7 > (mg/L) 20. 0 17.5 16. 0 16. 1 20. 1 16. 4
B v A W (mg/L) 31 29 28 25 29 26
J X ¥ v A @ JE (ng/l) 9 8 8 7 9 7
S q] 18.3 16.4 17.1 18.2 18.3 15.9
g £ I i R (mS/m) K 16.9 14.0 15. 1 14.5 14.2 15.3
¥ 17.6 15.2 16. 1 16.4 16.2 15.6
% 17 [ & (mg/L) 8.8 8.1 7.5 6.8 5.5 6.9
H S a] 0.028  0.023  0.026  0.026  0.029  0.025
% 74 B e ot 53 Bl 0.025 0. 021 0. 021 0. 021 0. 024 0.023
¥ 0.0260  0.022)  0.024] 0.024]  0.026| 0.024
2 H B o~ v F v W E (ng/l) 0. 030 0. 030 0. 044 0. 039 0.037 0.031
# O wm O E (B OE ) (mg/l) 0. 001 0.001| <0.001  <0.001| <0.001 0. 001
7 UV 7 b A AR U ¥ 1y A 20 0 0
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10 11 12 1 2 3 [EIE~ e AR NS5
0 0 0 0 0 0
0 0 0 0 0 0 24 0 0 0
0 0 0 0 0 0
— — — — — — 24 — — —
<0.001| <0.001 <0.001| <0.001  <0.001  <0.001
<0.001  <0.001 <0.001| <0.001 <0.001| <0.001 24/ <0.001 <0.001  <0.001
<0.001| <0.001  <0.001| <0.001  <0.001  <0.001
<0.03]  <0.03] <0.03 <0.03  <0.03  <0.03
<0.03  <0.03  <0.03  <0.03  <0.03  <0.03 24 <0.03| <0.03  <0.03
<0.03] <0.03] <0.03  <0.03  <0.03  <0.03
<0.001| <0.001 <0.001| 0.001  0.001  <0.001
<0.001  <0.001 <0.001| <0.001 <0.001| <0.001 24 0.001 <0.001  <0.001
<0.001| <0.001  <0.001| <0.001  <0.001  <0.001
15. 6 16. 3 16.0 18.0 17.0 14. 7
14.3 16.0 14.9 15.8 15. 7 11.6 24 18.0 8.0 13.3
15.0 16. 2 15. 4 16.9 16. 4 13.2
0.9 0.8 0.8 0.8 0.8 0.7
0.8 0.8 0.6 0.7 0.7 0.7 24 0.9 0.5 0.7
0.8 0.8 0.7 0.8 0.8 0.7
7.57 7.59 7.56 7.56 7.56 7.56
7.48 7.53 7.54 7.51 7.52 7.51 24 7.64 7.48 7.56
7.52 7.56 7.55 7.54 7.54 7.54
BEa U BELRL BELL BELL BEALL BELL 24 B
BEp U BEhl BEhl BEhl BELlL BEykl 24 HERL
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5
0.5 0.5 0.5 0.5 <0.5 <0.5 24 0.5 <0.5 0.5
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5
<0. 01 <0. 01 0. 02 0. 02 0. 02 0.01
<0. 01 <0. 01 <0. 01 <0. 01 0.02  <0.01 24 0.02|  <0.01 <0. 01
<0. 01 <0. 01 0.01 0.01 0.02)  <0.01
0.76 0.79 0.76 0.77 0.76 0.77
0.72 0. 74 0.76 0.76 0.76 0.73 24 0. 80 0. 64 0.75
0.74 0.76 0.76 0.76 0.76 0.75
0. 80 0. 84 0. 82 0. 81 0.81 0. 84
0.76 0. 80 0. 80 0. 80 0.79 0.76 24 0. 85 0. 69 0. 80
0.78 0. 82 0. 81 0. 80 0. 80 0. 80
0.7 0.9 0.6 0.7 0.7 0.6 12 1.0 0.5 0.7
26. 0 19. 7 13.8 9.2 9.1 13.4
19.3 16. 7 13.0 9.0 8.5 10. 1 24 30. 3 8.5 19.0
22.6 18.2 13. 4 9.1 8.8 11.8
40.5 38.6 36.8 34.2 34. 1 33.2
37.2 38.6 35.9 33.9 32.8 32.7 24 41. 3 32.7 36. 3
38.8 38.6 36.4 34.0 33.4 33.0
1.6 3.2 2.4 2.9 2.9 1.8 12 3.2 1.4 2.3
1.04 1.19 1. 30 1.31 1.28 0. 86 12 1.31 0. 62 1.00
20. 4 21.3 22.3 20. 7 21.6 19. 7 12 22.3 16.0 19.3
31 32 33 30 31 30 12 33 25 30
8 9 9 9 9 8 12 9 7 8
18.7 19.2 18.8 18.4 18.4 16. 6
18.2 18.9 17.8 17.6 17.6 14.8 24 19.2 14.0 17.0
18.4 19.0 18.3 18.0 18.0 15. 7
6.7 9.2 11.0 11.8 12.8 11.9 12 12.8 5.5 8.9
0.027| 0.027  0.036  0.027| 0.026  0.024
0.025  0.027  0.025  0.025  0.020  0.022 24 0.036  0.020  0.025
0.026/ 0.027  0.030  0.026| 0.023  0.023
0.040/ 0.036/ 0.035  0.025/ 0.035  0.032 12/ 0.044) 0.025  0.035
<0.001|  0.001 <0.001| <0.001  <0.001  <0.001 12/ 0.001 <0.001 <0.001
0 0 4 0 0 0
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PR K S R kAR K (20D 2)

4 5 6 7 8 9
HH
B RIT ALK OXE DAY g/ <0.0003 <0.0003 <0.0003| <0.0003 <0.0003 <0.0003
KO KR O F o b A& ¥ (ng/L) <0. 00005/ <0. 00005 <0. 00005 <0. 00005 | <0. 00005 <0. 00005
L v Kk X 2 0 kA& W (mg/l) <0.001| <0.001 <0.001 <0.001 <0.001 <0.001
E £ K O F O &t A& W (ng/L) <0.001| <0.001 <0.001 <0.001 <0.001  <0.001
N i 7 mv A & A& W (mg/L) <0.002| <0.002 <0.002 <0.002| <0.002  <0.002
i) fiH i3 i3 E % <0.004 <0.004 <0.004 <0.004| <0.004  <0.004
T A A R AL v T > (mg/L) <0.001| <0.001 <0.001 <0.001| <0.001 <0.001
il AR RE = R OK O AN R RE E FE (mg/L) 1. 14 0. 97 0. 63 0. 68 1. 04 0. 62
7 v #F K& Y 2 O b A ¥ (mg/L) <0. 08 <0. 08 <0. 08 <0. 08 0. 08 <0. 08
r v FE LK O EF O A W (ng/L) <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
| # 1k R # (mg/L) <0.0002 <0.0002 <0.0002| <0.0002 <0.0002 <0.0002
L4 — ¥ F F ¥ v (ng/L) <0.005  <0.005| <0.005 <0.005  <0.005  <0.005
75???Z};fi},é;?§§f7mtfiii;f;f{%§f (mg/L) <0.004| <0.004  <0.004 <0.004 <0.004  <0.004

®H|Y 7 = o R & v (mg/L) <0.002| <0.002  <0.002| <0.002  <0.002  <0.002
F N7 7 m v = F L ¥ (ng/l) <0.001| <0.001 <0.001 <0.001| <0.001  <0.001
Y 7 B v ox F L v (mg/L) <0.001| <0.001 <0.001 <0.001 <0.001| <0.001

e N + > (mg/L) <0.001| <0.001 <0.001 <0.001| <0.001  <0.001

% |1 ¥ % (mg/L) <0. 06 0. 06 0.07 0.07 0.10 0. 09
7 = = e % (mg/L) <0.002| <0.002 <0.002| <0.002  <0.002  <0.002
4 = = AN S 2 (mg/L) 0. 001 0.003 0. 006 0. 005 0. 006 0. 006

b=l % 7 o o e B (ng/L) <0.003  <0.003|  0.004| <0.003  0.004| <0.003
Y 7 m ow® / mou A & v (ng/l) 0. 004 0. 005 0. 005 0. 004 0. 008 0. 005
= E3 % (mg/L) 0. 004 0. 003 0. 002 0. 003 0. 004 0. 002
woOr U N o m A % v (ng/L) 0.010 0.014 0.017 0.014 0. 024 0.017

B[k D) 7 o oo fE ER (mg/L) <0.003| <0.003 <0.003| <0.003 <0.003  <0.003
7 v ® ¥ /7 v oo A & Vv (ng/l) 0. 003 0. 005 0. 006 0. 005 0. 008 0. 006
A =t e N % 2 (mg/L) 0. 002 0.001 <0.001  <0.001 0.002| <0.001
A v A 7 A F b K (mg/L) <0.008| <0.008  <0.008| <0.008 <0.008  <0.008
o k& O = o b & ¥ (ng/L) <0.1 <0.1 0.1 <0.1 <0.1 0.1
TN =0 ANKEREOAEY (mg/l) 0. 02 0. 02 0. 02 0. 02 0.03 0. 02
M Kk O F o A W (ng/L) 0.1 0.1 <0.1 <0.1 <0.1 0.1
FT FU T AR OYEOOAAAEW (ng/L) 17.3 14.6 13.4 13.2 18.1 14. 2
BT TN~ TRy A& (EE) (ng/L) 40 37 36 32 38 33
7 %% ¥ H ¥ (mg/L) 103 100 92 82 105 94
fz2 4 A v K m & M A (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
% ES + 2 2 v (ng/L) <1 <1 <1 <1 <1 <1
- A F AL A VKRR F — L (ng/l) <1 <1 <1 <1 <1 <1
FE A4 A v K om W % A (mg/L) <0.005| <0.005 <0.005 <0.005 <0.005  <0.005
- - J — I H (mg/L) <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005
T F R RNE O E YW (mg/L) <0. 002 <0. 002
7 7 v Kk Y 2 O b & B (mg/l) <0. 0002 <0. 0002
= v F L kO ZF DS Y (hg/l) <0. 002 <0. 002
L2- ¥ 7 v v = % ¥ (mg/L) <0. 0004 <0. 0004
~ Ju - > (mg/L) 0. 04 <0. 04
TELVEEY Q- F L~ F T 0) (mg/L) <0. 008 <0. 008

| % F# 7% (mg/L) 0. 06 <0. 06

Bl 7 mmw 7% F =k U b (mg/l) <0. 001 <0. 001

Eﬁ B ok 7 v 7 — 2 (mg/l) <0. 002 <0. 002

g B # o <1 <1

e | e iR fiz (mg/L) 1.6 1.8 1.5 1.2 2.6 2.6

E(|LL1- MU 7 v oa x X v (ng/l) <0. 03 <0.03

BHlxAFrv-t-7F 1= —5 L (MBE) (ng/L) <0. 002 <0. 002
= B Gid E (TON) 1 1 1 1 1 1
2, )| V- ¢ -1.3 -1.3 -1.3 -1.3 -1.1 -1.2
3 & ES = i B (CFU/ml) 0 0
L1 — ¥ 7 oo =xJF L ¥ (gl <0.01 <0. 01
YL )NFda Ay B R )VIR R (PFOS) (ng/L) 10 15

ROV T VAR X VB (PROS)
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10 11 12 1 2 3 [F1 %% i i )

<0. 0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 12| <0.0003| <0.0003 <0.0003
<0. 00005 <0. 00005 | <0. 00005 <0. 00005 <0. 00005 <0. 00005 12| <0. 00005 <0. 00005 <0. 00005
<0.001] <0.001] <0.001] <0.001] <0.001] <0.001 12| <0.001| <0.001| <0.001
<0.001] <0.001) <0.001] <0.001] <0.001 <0.001 12| <0.001  <0.001] <0.001
<0.002] <0.002] <0.002] <0.002 <0.002 <0.002 12| <0.002| <0.002  <0.002
<0.004| <0.004  <0.004, <0.004 <0.004  <0.004 12| <0.004, <0.004  <0.004
<0.001| <0.001] <0.001| <0.001| <0.001] <0.001 12| <0.001| <0.001| <0.001
1. 04 1.19 1.30 1.31 1.28 0. 86 12 1.31 0. 62 1.00
<0. 08 0.09 0. 08 <0. 08 <0. 08 <0. 08 12 0.09 <0. 08 <0. 08
<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 12 <0.1 <0.1 <0.1
<0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 12| <0.0002| <0.0002 <0.0002
<0.005/ <0.005  <0.005 <0.005  <0.005  <0.005 12)  <0.005 <0.005  <0.005
<0.004| <0.004  <0.004| <0.004 <0.004  <0.004 12| <0.004) <0.004 <0.004
<0.002] <0.002] <0.002] <0.002] <0.002 <0.002 12| <0.002) <0.002  <0.002
<0.001| <0.001 <0.001| <0.001 <0.001 <0.001 12/ <0.001, <0.001 <0.001
<0.001] <0.001] <0.001] <0.001] <0.001] <0.001 12| <0.001| <0.001| <0.001
<0.001 <0.001 <0.001| <0.001 <0.001  <0.001 12/ <0.001 <0.001 <0.001
0.07 <0. 06 <0. 06 <0. 06 <0. 06 <0. 06 12 0.10 <0. 06 <0. 06
<0.002| <0.002 <0.002| <0.002 <0.002  <0.002 12)  <0.002) <0.002 <0.002
0. 005 0.001/ <0.001 <0.001 <0.001 <0.001 12 0.006, <0.001 0. 003
<0.003| <0.003 <0.003] <0.003 <0.003  <0.003 12 0.004  <0.003  <0.003
0. 008 0. 005 0. 003 0. 003 0. 003 0. 002 12 0. 008 0. 002 0. 005
0. 003 0. 005 0. 002 0. 002 0. 002 0. 001 12 0. 005 0. 001 0. 003
0. 022 0.011 0. 006 0. 006 0. 006 0. 003 12 0.024 0. 003 0.012
<0.003| <0.003 <0.003| <0.003 <0.003  <0.003 12)  <0.003| <0.003| <0.003
0. 007 0. 003 0. 002 0. 002 0. 002 0. 001 12 0. 008 0. 001 0. 004
0. 002 0. 002 0. 001 0. 001 0.001  <0.001 12 0.002  <0.001 0. 001
<0.008| <0.008| <0.008 <0.008 <0.008  <0.008 12| <0.008 <0.008  <0.008
<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 12 <0.1 <0.1 <0.1
0.02 0.02 0.02 0.02 0.02 0.02 12 0.03 0.02 0.02
<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 12 <0.1 <0.1 <0.1
18. 1 17.6 17.0 15.6 16.9 14. 4 12 18.1 13.2 15.9
39 41 42 39 40 38 12 42 32 38
109 111 104 93 106 86 12 111 82 99
<0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 12 <0. 02 <0. 02 <0. 02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<1 <1 <1 <1 <1 <1 12 <1 <1 <1
<0.005| <0.005] <0.005 <0.005 <0.005  <0.005 12| <0.005  <0.005  <0.005
<0. 0005/ <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 12| <0.0005 <0.0005 <0.0005
<0. 002 <0. 002 4, <0.002) <0.002 <0.002
<0. 0002 <0. 0002 4 <0.0002| <0.0002| <0.0002
<0. 002 <0. 002 4, <0.002] <0.002 <0.002
<0. 0004 <0. 0004 4, <0.0004| <0.0004| <0.0004
<0. 04 <0.04 4 <0. 04 <0. 04 <0. 04
<0. 008 <0. 008 4 <0.008| <0.008/ <0.008
<0. 06 <0. 06 4 <0. 06 <0. 06 <0. 06
<0. 001 <0. 001 4 <0.001 <0.001| <0.001
<0. 002 <0. 002 4, <0.002) <0.002 <0.002
<1 <1 4 <1 <1 <1
1.4 2.8 2.1 2.6 2.6 1.6 12 2.8 1.2 2.0
<0. 03 <0. 03 4 <0. 03 <0. 03 <0. 03
<0. 002 <0. 002 4, <0.002) <0.002 <0.002
1 1 1 1 1 1 12 1 1 1

-1.1 -1.3 -1.3 -1.5 -1.5 -1.5 12 -1.1 -1.5 -1.3
0 0 4 0 0 0
<0.01 <0.01 4 <0. 01 <0.01 <0. 01
11 5 4 15 5 10
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PR RS R e AREE K (2D 3)

s 5 7 10 2 El | R RIE T

HH

1,3—y7uauara~X2 (D—D) (mg/L) | <0.0005/ <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
22 —DPA (X 7&K ) (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D (24 — P A ) (mg/L)| <0.0002 <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
E P N (mg/L) | <0.00005 <0.00005| <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
M C P A (mg/L) | <0.0003 <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
T v = = 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
T +* 7 - — ~ (mg/L) | <0.0008  <0.0008| <0.0008  <0.0008 4| <0.0008| <0.0008|  <0.0008
7 k 7 4 > (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 = =4 N A (mg/L) | <0.00005/ <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
T N S = A (mg/L) | <0.0003  <0.0003  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 = 4 = — JL (mg/L) | <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
A4 Y F Y F A  (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
A4 Y 7 = ¥ A& A (mg/L)| <0.00003 <0.00003| <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
AV 7ahr7 (MIPC) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AV 7aFF 7 (IPT) mg/L) <0.003 <0.003 <0.003 <0.003 4 <0. 003 <0. 003 <0. 003
A4 7 XK A(IBP) (mg/L) <0.0009| <0.0009| <0.0009| <0.0009 4| <0.0009  <0.0009| <0.0009
A4 2 7 7 & ¥ v (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
A4 ¥ KX /7 7 7 ¥ (mg/L)| <0.00009 <0.00009 <0.00009 <0.00009 4| <0.00009| <0.00009 <0.00009
— X 7 v H 7 (mg/L)| <0.0003  <0.0003 ~ <0.0003| <0.0003 4| <0.0003| <0.0003  <0.0003
= N 7 = ¥ 7 ma v 7 A (mg/L)| <0.0008 <0.0008  <0.0008 <0.0008 4| <0.0008| <0.0008/ <0.0008
TURZNNT 7o (R ) (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001 4 <0.0001| <0.0001| <0.0001
F F ¥ ¥ 7 g R A (mg/L)| <0.0002 <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
T X > 8 (A ¥ 8 ) (ng/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
= U B X k2 B ¥ (mg/L)

Vil z B N A (mg/L) | €0.000006| <0.000006| <0. 000006/ <0.000006 4| <0. 000006 <0. 000006/ <0. 000006
B 7 x= ¥ A kv — JL (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
Vi % i > 7 (mg/L) <0.001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
B N U b (N A C ) (mg/L)| <0.0003 <0.0003| <0.0003 <0.0003 4| <0.0003| <0.0003| <0.0003
77 Y Z > (mg/L) [ <0.000003 <0.000003  <0.000003| <0. 000003 4| <0.000003| <0.000003| <0. 000003
¥ /7 732 (A CN ) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005/ <0.00005
% x - i v (mg/L) <0. 003 <0. 003 <0. 003 <0.003 4 <0. 003 <0. 003 <0. 003
Y S 1% =d > (mg/L) | <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
v U AN B —  (mg/L) 0. 02 0. 02 €0. 02 0. 02 4 <0. 02 <0. 02 <0. 02
7 v R Y 3% — b (mg/L)| <0.0002 <0.0002  <0.0002 ~ <0.0002 4| <0.0002| <0.0002|  <0.0002
7 o m A 7 v v 7 (mg/L)| <0.0002  <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
sl =ra 7= (CNP) (mg/L)| <0.0001 <0.0001  <0.0001| <0.0001 4 <0.0001| <0.0001| <0.0001
7 m b B U R A (mg/L)[| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
smua o=/, (TPN) mL)|[ <0.0005 <0.0005 <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
D4 7 > D4 > (mg/L) | <0.00001| <0.00001 <0.00001| <0.00001 4| <0.00001| <0.00001| <0.00001
> 7 J A A (CY AP ) (mg/L)| <0.00003 <0.00003 <0.00003| <0.00003 4| <0.00003| <0.00003 <0.00003
v nra Yy (DCMU ) (mg/L)| <0.0002 <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
Y7 X=)(DBN) (mg/lL) <0.0003| <0.0003| <0.0003| <0.0003 4/ <0.0003| <0.0003  <0.0003
7 ma )R A (DDVP) (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
¥ 7 1Z D k (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AR I (= F )V F A ARL) (mg/L) | <0.00004| <0.00004| <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
CFF I N A— R A (ng/L)

D% I 7 | JL (mg/L) | <0.00009 <0.00009| <0.00009 <0.00009 4 <0.00009| <0.00009| <0.00009
oo m ok vy 7 7 F b (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006/ <0.00006
v o= ¥ v (. C A T ) (mg/L)| <0.00003 <0.00003 <0.00003| <0.00003 4| <0.00003| <0.00003 <0.00003
v X X A Kk U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4/ <0.0002| <0.0002|  <0.0002
D% A K - — ~ (mg/L) | <0.0005  <0.0005/ <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
¥ A k D) > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
v A T D4 J > (mg/L) | <0.00003| <0.00003| <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
v A VN i v (mg/L) <0.008 <0.008 <0.008|  <0.008 4 <0. 008 <0. 008 <0. 008
AN AR NI —23 ) e OAF (ng/L)

WAV FFH LT 2=k
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- s 5 7 10 2 E R RIE P
S e ¥ = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
SF 7 S 2 (mg/L) | <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002|  <0.0002
F 4 ¥ J b 7 (mg/L)| <0.0008  <0.0008  <0.0008  <0.0008 4| <0.0008| <0.0008  <0.0008
F A 7 7 — K A F )L (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
F & N v v 7 (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 7 U v b U F v (mg/L)

T T AT (MBPMC) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
[N ) V4 =4 = JL (mg/L) | <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
FY Zwma k> (DEP) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
U Yy Z T — b (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
KU 7 o Z U v (mg/L)| <0.0006/ <0.0006 ~ <0.0006  <0.0006 4| <0.0006| <0.0006/ <0.0006
7+ A = A N R (mg/L) | <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A = = — k (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
= ~ =4 IR A (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
= v 7 = = JL (mg/L) | <0.0001  <0.0001| <0.0001 <0.0001 4 <0.0001| <0.0001| <0.0001
7 Y ¥ ¥ 7 = » (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
IV YR —hk (YL —hK) (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
U X 7 = v F F  (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
vy 7 F H v 7 (mg/L)| <0.0002] <0.0002 ~ <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
= =4 ¥ = > (mg/L) | <0.0005 <0.0005 ~ <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 € A = = JL (mg/L) | <0.000005| <0.000005 <0.000005 <0.000005 4| <0.000005| <0.000005| <0. 000005
Zx=hruaF At (MEP) @mg/)| <0.0001 <0.0001  <0.0001 <0.0001 4| <0.0001| <0.0001| <0.0001
7 /)7 H)L T (BPMC) (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 = ) N > > (mg/L) | <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 xr F A (MPP) (mg/L)| <€0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
7z — K (PAP) (mg/L)| <€0.00007 <0.00007 <0.00007 <0.00007 4| <0.00007| <0.00007 <0.00007
7 = v b T F I K (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001 4 <0.0001| <0.0001| <0.0001
7 A = A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 % 4 = — JL (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 vl g 7N A (mg/L) | <0.0002| <0.0002| <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 7 um 7 = ¥ v (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 v 7 ¥ A (mg/L)| <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
7 v F T 7 v — Jb (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
- =] D4 =4 K > (mg/L) <0.0009| <0.0009  <0.0009| <0.0009 4/ <0.0009| <0.0009  <0.0009
7 n F A4 AR A (mg/L)| <0.00007 <0.00007 <0.00007 <0.00007 4| <0.00007| <0.00007 <0.00007
7 m v =2 Y — b (mg/L)| <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
A = = A N K (mg/L) | <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 v X S Y — ) (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003  <0.0003| <0.0003
7 =i £ 7 I K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J R JL (mg/L) | <0.0002]  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
~ Nz 2 4 = v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
N v Y v v 7 v v (mg/L)| <0.0009 <0.0009  <0.0009  <0.0009 4| <0.0009| <0.0009| <0.0009
~N v Y 7 = F w7 (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
~ v i ' > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N T 4 A KX U v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
~N T Z JL 7 (mg/L) | <0.0002| <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
N7 (X2 ) (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001 4| <0.0001| <0.0001| <0.0001
~N v 7 L & — b (mg/L)| <0.0007 <0.0007  <0.0007  <0.0007 4| <0.0007| <0.0007,  <0.0007
A A F 7 £ — b (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
~ 7 F A (~F Y ) (mg/l) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
Aa 7 uay 7 (MCPP) (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
A Y S JL (mg/L) | <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A A 7 % > )L (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
AF X F F > (DMTP) (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
A K~ I J A b m B ¥ (ng/L)| <0.0004 <0.0004  <0.0004  <0.0004 4 <0.0004| <0.0004| <0.0004
A k ) 7 ¥ > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A 7 = F v b (mg/L) <0.0002| <0.0002  <0.0002| <0.0002 4 <0.0002| <0.0002  <0.0002
A A =4 = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
S D) s — ~ (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
=3 $E $H  (mg/L) <1 <1 <1 <1 4 <1 <1 <1
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3) BripKGEAEFEM JRlR KSRk KRk
SRS PN S

A
o 4 5 6 7 8 9
5 q] 0 0 0 0 0 0
— ik | (CFU/ml) | FcAE 0 0 0 0 0
S 0 0 0 0 0 0
54 - - - - - -
YN 1% IR = = = = = =
) = = = = = =
| <0.001)  <0.001  <0.001| <0.001  0.001| <0.001
M & O F o b A& ¥ (ng/L) &MLl <0.001 <0.001| <0.001| <0.001| <0.001| <O0.001
SEEJ| <0.001]  <0.001  <0.001] <0.001  <0.001| <0.001
R <0.03)  <0.03  <0.03]  <0.03] <0.03  <0.03
&% & O 2 o b & B (ng/l) | KK <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
SE¥J[ <0.03) <0.03  <0.03]  <0.03  <0.03  <0.03
| <0.001]  <0.001  <0.001| <0.001  <0.001| <0.001
~ v H kO EDONAAEYW (mg/L) &IE| <0.001 <0.001 <0.001| <0.001| <0.001 <0.001
SEEJ| <0.001]  <0.001  <0.001] <0.001 <0.001| <0.001
55 16. 0 12.4 12.1 13.6 12.9 10. 6
woitk A %+ v (mg/L) HAX 12.0 9.4 10. 1 7.9 7.2 9.9
T 14. 4 10.9 11.0 10. 1 10. 1 10. 2
e 0.8 0.7 0.8 0.8 0.8 0.8
H T L] (ToC)  (mg/L) A% 0.7 0.6 0.7 0.7 0.6 0.7
S 0.8 0.7 0.7 0.8 0.7 0.8
55 7.61 7.68 7.59 7.66 7.64 7.67
pH ([ el 7.48 7.53 7.46 7.49 7.49 7.51
T 7.54 7.57 7.52 7.54 7.56 7.56
Bk B U RS BERL I BRERL BERLU I RERL
S Bz U Bwa U B L Byl | Bl Byl
=S <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
R (B) &K €0.5 <0.5 <0.5 <0.5 0.5 0.5
Sy 0.5 <0.5 <0.5 0.5 0.5 <0.5
R <0.01 0.01 <0.01]  <0.01 <0. 01 0.01
i) BE () &% <0.01 <0.01 <0.01  <0.01 <0.01|  <0.01
|l <0.01 <0.01 <0.01|  <0.01 <0.01|  <0.01
M =5 0. 87 0.83 0. 87 0. 84 0. 86 0. 86
%J o BE % ¥ B F (ng/l) mIK 0.67 0.62 0.70 0. 59 0. 62 0. 60
H Sy 0.78 0.77 0.80 0.76 0.76 0.76
i 55 0.91 0. 88 0. 90 0.89 0. 90 0. 90
w |7% o 5 #  (mg/L) HIK 0. 74 0. 67 0.78 0. 68 0. 68 0. 64
p S 0. 84 0. 82 0. 85 0. 82 0. 82 0. 82
vlE B W % (Ko, T O &) (me/L) 0.8 0.5 0.8 0.9 0.8 0.6
55 20. 4 21.2 25.6 30. 2 30.0 29. 1
7K i) (C) &K 16.6 18.6 23.1 25.7 25.4 25.5
) 17.9 20. 1 24. 3 27.6 27.9 27.2
B 34.2 32.6 34.6 32.1 32.3 32.6
7 Jb & ) B (mg/L) | &IX 30.0 30.0 31. 1 27.7 26.9 31.8
- ) 32.5 31.8 32.1 30. 6 29. 7 32.4
[ B (mg/L) 2.1 1.5 1.6 1.4 3.5 1.9
fii [ e = #  (mg/L) 1.13 0. 94 0.58 0.81 0. 96 0. 59
iy |t [ A 7+ > (mg/L) 20. 3 18.0 15.9 16.6 20. 3 18.5
B o A O (mg/L) 31 30 28 25 28 28
~ 7 x ¥ v A fE O (mg/L) 9 8 8 7 9 7
=5 18.0 16. 1 16. 3 17.8 17.1 15. 8
Hle = & M % as/m &% 152 137 145 135 127 151
Sy 16.4 15.0 15.3 15.1 15.1 15.3
b 17 it #  (mg/L) 10. 1 9.4 8.8 8.7 7.1 8.5
E &l 0.0310 0.026/  0.033)  0.030]  0.029  0.030
%4 B W ok A&l 0.027]  0.0220  0.024  0.026  0.024  0.024
SEEI[ 0.0280  0.024  0.028  0.028  0.026/  0.027
4 H o~ v F v W E (mg/l) 0.035| 0.035  0.039] 0.056  0.037  0.038
Ok oo E B OE ) (mg/l) 0.001 0.001 <0.001 0.001| <0.001 0. 001
7 U 7 kN AR U ¥ o A (f#/200) 0 0
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10 11 12 1 2 3 1% e K Py
0 0 0 0 0 0
0 0 0 0 0 0 48 0 0 0
0 0 0 0 0 0
— — — — — — 48 — — —
<0.001 <0.001 <0.001 <0.001  <0.001] <0.001
<0.001  <0.001 <0.001 <0.001  <0.001 <0.001 48  0.001 = <0.001  <0.001
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001
<0.03]  <0.03] <0.03] <0.03] <0.03] <0.03
<0.03]  <0.03| <0.03| <0.03] <0.03  <0.03 48 <0.03  <0.03  <0.03
<0.03] <0.03] <0.03] <0.03] <0.03  <0.03
<0.001 <0.001 <0.001 <0.001  <0.001] <0.001
<0.001  <0.001 <0.001 <0.001 <0.001 <0.001 48 <0.001  <0.001  <0.001
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001
15. 4 16. 1 16. 2 23.2 17.5 15. 8
13.3 15.8 14. 7 15. 8 15. 8 11.9 48 23.2 7.2 13.4
14.3 16.0 15. 6 17.9 16. 6 14.2
1.0 0.9 0.9 0.9 0.9 0.9
0.7 0.7 0.9 0.8 0.8 0.8 48 1.0 0.6 0.8
0.8 0.8 0.9 0.8 0.8 0.8
7. 60 7.59 7.61 7.61 7.56 7.61
7.49 7.54 7.52 7.50 7.50 7.52 48 7.68 7.46 7.55
7.53 7.56 7.55 7.56 7.54 7.56
B U BESR L B L BEa L BEL L BERL 48 HERL
B U Bl BE2U BRELL BE2L Byl 48 B
0.5 <0.5 <0.5 0.5 0.5 <0.5
0.5 <0.5 0.5 0.5 0.5 0.5 48 <0.5 0.5 0.5
0.5 <0.5 <0.5 0.5 0.5 0.5
0.03] <0.01 0. 02 0. 02 0. 02 0. 02
<0.01| <€0.01  <0.01  <0.01| <0.01  <0.01 48 0.03| <0.01  <0.01
0.01| <0.01 0.01| <0.01| <0.01| <0.01
0. 81 0. 81 0.84 0.84 0. 83 0.87
0. 55 0. 60 0. 62 0. 60 0. 64 0. 59 48 0.87 0.55 0.77
0.74 0.75 0.78 0.78 0.77 0.76
0. 89 0.88 0.91 0. 89 0.91 0. 90
0. 62 0. 65 0. 68 0. 66 0. 69 0. 65 48 0.91 0. 62 0. 82
0. 81 0.81 0. 84 0. 83 0. 82 0. 80
0.8 0.9 0.8 0.7 0.8 0.8 12 0.9 0.5 0.8
27.8 19.5 14.2 12.8 10. 8 14.3
18.4 16.3 12.8 7.7 7.9 8.8 48 30. 2 7.7 19.2
23.6 18.4 13.5 9.3 9.2 11.5
37.0 37.8 35.8 34.9 34.6 35. 1
35.3 36.4 34.8 31.0 31.5 32.9 48 37.8 26.9 33.1
36. 2 36.8 35.2 33.3 33.2 33.6
1.4 3.1 2.4 2.4 3.4 1.8 12 3.5 1.4 2.2
1.00 1.18 1.24 1.31 1.21 0. 83 12 1.31 0. 58 0.98
19.4 21.2 22.2 23.3 23.4 18.5 12 23.4 15.9 19. 8
31 32 34 32 31 30 12 34 25 30
8 9 9 9 9 8 12 9 7 8
17.8 18.6 18.9 20.4 18.3 17.9
17.7 18.1 17.8 17.8 17.6 14.8 48 20. 4 12.7 16.6
17.7 18. 4 18.4 18.8 18.0 16.4
8.8 10.5 12.0 12.4 14.3 12.6 12 14.3 7.7 10. 3
0.031] 0.030] 0.034] 0.045  0.029]  0.030
0.029| 0.027| 0.030] 0.027  0.028  0.027 48/ 0.045  0.022  0.028
0.030| 0.028/ 0.032] 0.034  0.028  0.029
0.045| 0.041] 0.045| 0.039] 0.035] 0.044 12/ 0.056 0.035  0.041
0.001] 0.001] 0.001] 0.001] 0.001] 0.001 12/ 0.001 <0.001 <0.001
0 0 4 0 0 0
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3) BRAKIEARZE JRIRE KRG AR K

Je I {7k B R e KA K

KO~V VA a2 (PROS)

A
wH 4 5 6 7 8 9
HREITL KL RZEDWEY (ng/l) <0.0003| <0.0003 <0.0003| <0.0003 <0.0003 <0.0003
KB K N F 0 L A& W (ng/L) <0. 00005 | <0. 00005 <0. 00005 <0. 00005 <0. 00005 <0. 00005
Lk O E 0 AE W (ng/l) <0.001  <€0.001| <0.001 <0.001| <0.001  <0.001
b # K O E 0 E W (ng/l) <0.001  <0.001| <0.001 <0.001| <0.001  <0.001
AN oM 7 v A b A W (ng/l) <0.002) <0.002 <0.002/ <0.002 <0.002  <0.002
[ TN i3 & = #  (mg/L) <0.004| <0.004| <0.004 <0.004 <0.004  <0.004
ST A Ay RO ALY T v (mg/L) <0.001  <€0.001| <0.001 <0.001| <0.001  <0.001
AR ER L OHEMHMmEER (mg/l) 1.13 0.94 0.58 0.81 0.96 0. 59
7 v Z KO E 0L AW (ng/L) 0. 08 <0. 08 <0. 08 <0. 08 <0. 08 <0. 08
T ERELYE O EW (ng/l) 0.1 0.1 0.1 0.1 0.1 0.1
by i 1k R F%&  (mg/L) <0.0002 <0.0002| <0.0002 <0.0002 <0.0002 <0.0002
L4 — ¥ F F Y v (mg/L) <0.005 <0.005 <0.005 <0.005 <0.005  <0.005
VA—LZ—vVv 7 EuBEIT LK
[0} (mg/L) <0.004 <0.004| <0.004 <0.004| <0.004 <0.004
K21 9->7vonaxF1 >~
wl|¥y 7 \m o\ A v (ng/l) <0.002) <0.002 <0.002 <0.002 <0.002  <0.002
> b7 7 mua = F L > (mgl) <0.001| <0.001 <0.001| <0.001 <0.001| <0.001
MY 7 B v o F Lo (mg/l) <0.001| <0.001 <0.001| <0.001 <0.001| <0.001
R N + > (mg/L) <0.001| <0.001 <0.001| <0.001 <0.001| <0.001
% |1 # Bz (mg/L) 0. 09 0.10 0. 09 0.08 0.10 0. 09
V4 =t =t (3 B2 (mg/L) <0.002/ <0.002| <0.002| <0.002/ <0.002| <0.002
Vi = = A v A (mg/L) 0.002  0.005 0.005  0.008 0.009  0.010
D = = e B (mg/L) <0.003 <0.003| <0.003 <0.003|  0.004  0.004
v 7 e w7 uu A X v (mg) 0.003  0.007  0.004  0.004  0.008  0.007
B = Fz  (mg/L) 0.002/  0.002  0.002  0.001 0.003|  0.002
wmoh U oo~ w2 Z v (mg/L) 0.009  0.021  0.014  0.018  0.029  0.027
H N YU 7 v om B O (ng/L) <0.003| <0.003 <0.003 <0.003 <0.003  <0.003
v ® Y s oo A KXY (ng/l) 0.003  0.007  0.005  0.006  0.010  0.009
7 = £ A& A A (mg/Ll) 0.001|  0.002 <0.001 <0.001  0.002  0.001
A v A 7T A F b K (mg/L) <0.008| <0.008 <0.008 <0.008 <0.008  <0.008
ot &k ™ o kA W (ng/L) 0.1 €0. 1 0. 1 €0. 1 <0.1 0.1
TNHI=0 Lk OZE0EY (ng/L) 0. 02 0.03 0.03 0. 04 0. 04 0.03
i K ™ = o b A B (ng/L) 0.1 0. 1 0. 1 <0. 1 <0.1 0.1
FTFIV AR EDOIREY (ng/L) 16.5 13.2 12.1 10.7 16. 2 12.3
HNT T L~ TR T L5 FEE) (mg/L) 40 38 36 32 37 35
7% 7 7% ® ¥ (mg/L) 103 99 87 95 103 91
fz2 4 = » H m & M Al (mg/L) <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
v = F =z 2 v (ng/L) <1 <1 <1 <1 <1 <1
2- A F LA VAR RAE— N (ng/L) <1 <1 <1 <1 <1 <1
FE A A v K om iE M Al (mg/L) <0.005 <0.005 <0.005/ <0.005 <0.005| <0.005
7 - J — v JF (mg/L) <0. 0005 <0.0005| <0.0005 <0.0005 <0.0005 <0.0005
TryFEUVREORZEDOAAEYW (ng/l) <0. 002 <0. 002
7 7 v kY E 0 AW (ng/l) <0. 0002 <0. 0002
= v TNk 0N EYW (gl <0. 002 <0. 002
L2- ¥ 7 v v = % ¥ (ng/l) <0. 0004 <0. 0004
~ Jv - > (mg/L) <0. 04 <0. 04
TENLEY Q- F L ~F ) (mg/L) <0. 008 <0. 008
AR i) =3 B (mg/L) <0. 06 <0. 06
Bl 7o 7% F=hFrU L (ng/l) <0. 001 <0. 001
Ej B ok 7 v F = 2 (mg/l) <0. 002 <0. 002
o | E'S H <1 <1
i |1 3 I i (mg/L) 1.8 1.3 1.4 1.2 3.1 1.7
H(1,1,1- YU 7 v e = &% o (ng/L) <0. 03 <0. 03
HxFr-t-7F x> —F /L MIBE) (mg/L) <0. 002 <0. 002
B g G & (TON) 1 1 1 1 1 1
g v 4 UV 7T B K -1.4 -1.2 -1.4 -1.5 -1.2 -1.1
e B K & M B (CFU/ml) 13 0
L1l — Y27 voexF Ly (ng/l) 0. 01 <0.01
~YL T vty B A JVIR g (PFOS) (ng/L) <5 6
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10 11 12 1 2 3 [EIE:S 53] 54 i NS0

<0. 0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 12/ <0.0003 <0.0003 <0.0003
<0. 00005 <0. 00005 <0. 00005 <0. 00005 <0. 00005 <0.00005 12/ <0. 00005 <0. 00005 <0. 00005
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001 12. <0.001  <0.001  <0.001
<0.001  <0.001 <0.001 <0.001  <0.001 <0.001 120 <0.001  <0.001  <0.001
<0.002 <0.002 <0.002 <0.002 <0.002  <0.002 120 <0.002 <0.002  <0.002
<0.004 <0.004| <0.004 <0.004| <0.004  <0.004 12| <€0.004 <0.004  <0.004
<0.001 <0.001 <0.001 <0.001 <0.001 <0.001 12. <0.001 <0.001  <0.001
1.00 1.18 1. 24 1.31 1.21 0. 83 12 1.31 0. 58 0.98
<0. 08 0.08 0.08] <0.08  <0.08  <0.08 12 0.08  <0.08  <0.08
<0.1 0.1 <0.1 <0.1 0.1 <0.1 12 0.1 <0.1 <0.1
<0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 12/ <0.0002 <0.0002 <0.0002
<0.005/ <0.005 <0.005 <0.005 <0.005  <0.005 12| <€0.005 <0.005  <0.005
<0.004  <0.004 <0.004 <0.004 <0.004| <0.004 12 <0.004| <0.004| <0.004
<0.002  <0.002 <0.002 <0.002  <0.002  <0.002 120 <0.002  <0.002  <0.002
<0.001 <0.001 <0.001| <0.001 <0.001  <0.001 120 <0.001  <0.001  <0.001
<0.001  <0.001 <0.001 <0.001  <0.001 <0.001 120 <0.001  <0.001  <0.001
<0.001| <0.001 <0.001| <0.001 <0.001  <0.001 12| <€0.001  <0.001| <0.001
0.07| <0.06| <0.06| <0.06  <0.06  <0.06 12 0.10| <0.06  <0.06
<0.002| <0.002| <0.002| <0.002| <0.002  <0.002 120 <0.002 <0.002  <0.002
0.006/  0.003] 0.002] 0.002  0.001  0.003 12 0.010  0.001  0.005
<0.003| <0.003| <0.003| <0.003| <0.003 <0.003 12 0.004 <0.003  <0.003
0.006/ 0.004] 0.003  0.005  0.003  0.002 12 0.008  0.002  0.005
0.003  0.001 <0.001  0.003  0.004 <0.001 12| 0.004 <0.001  0.002
0.020/ 0.012| 0.008/ 0.012]  0.007  0.008 12 0.029  0.007  0.015
<0.003| <0.003| <0.003| <0.003| <0.003 <0.003 120 <0.003 <0.003  <0.003
0.007|  0.004] 0.003  0.004  0.002  0.003 12 0.010  0.002  0.005
0.001  0.001 <0.001 0.001  0.001 <0.001 12| 0.002 <0.001| <0.001
<0.008  <0.008 <0.008 <0.008 <0.008 <0.008 120 <0.008 <0.008  <0.008
<0.1 0.1 <0. 1 0.1 0.1 <0. 1 12 <0. 1 0.1 0.1
0.03 0.02 0.01 0.01 0.01 0. 02 12 0.04 0.01 0. 02
<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0. 1 <0. 1
15.6 16. 6 16.8 16. 2 16. 8 14.2 12 16.8 10. 7 14.8
39 41 43 41 40 38 12 43 32 38
103 105 106 102 110 96 12 110 87 100
<0.02) <0.02  <0.02| <0.02  <0.02  <0.02 12| <0.02  <0.02  <0.02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1

<1 <1 <1 1 2 <1 12 2 <1 <1
<0.005 <0.005 <0.005 <0.005 <0.005 <0.005 120 <0.005 <0.005  <0.005
<0.0005 <0.0005| <0.0005 <0.0005 <0.0005 <0.0005 12| <0.0005 <0.0005 <0.0005
<0. 002 <0. 002 4 <0.002) <0.002 <0.002
<0. 0002 <0. 0002 4 <0.0002 <0.0002 <0.0002
<0. 002 <0. 002 4 <0.002 <0.002  <0.002
<0. 0004 <0. 0004 4. <0.0004 <0.0004| <0.0004
<0. 04 <0. 04 4 <0.04  <0.04]  <0.04
<0. 008 <0. 008 4| <0.008 <0.008 <0.008
<0. 06 <0. 06 4 <0.06  <0.06  <0.06
<0. 001 <0. 001 4 <0.001 <0.001  <0.001
<0. 002 <0. 002 4 <0.002 <0.002  <0.002
<1 <1 4 <1 <1 <1
1.2 2.7 2.1 2.1 3.0 1.6 12 3.1 1.2 1.9
<0. 03 <0. 03 4] <0.03  <0.03  <0.03
<0. 002 <0. 002 4 <0.002 <0.002  <0.002
1 1 1 2 2 1 12 2 1 1

-1.2 -1.3 -1.4 -1.3 -1.5 -1.5 12 -1.1 -1.5 -1.3
0 0 4 13 0 3

<0. 01 <0. 01 4 <0.01  <0.01  <0.01
7 8 4 8 <5 5
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JEl K Rifa ARfEK (Z203)
A

5 7 10 2 [=1%% B IR )

HH

1,3—y7mrura~X(D—D) @mg/L)| <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
22 —DPA (X 7&K ) (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D (24 — P A ) (mg/L)| <0.0002 <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
E P N (mg/L) | <0.00005 <0.00005| <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
M C P A (mg/L) | <0.0003 <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
T v = = 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
T +* 7 - — ~ (mg/L) | <0.0008  <0.0008| <0.0008  <0.0008 4| <0.0008| <0.0008|  <0.0008
7 k 7 4 > (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 = =4 N A (mg/L) | <0.00005/ <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
T N S = A (mg/L) | <0.0003  <0.0003  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 = 4 = — JL (mg/L) | <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
A4 Y F Y F A  (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
A4 Y 7 = ¥ A& A (mg/L)| <0.00003 <0.00003| <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
AV 7ahr7 (MIPC) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AV 7aFF 7 (IPT) mg/L) <0.003 <0.003 <0.003 <0.003 4 <0. 003 <0. 003 <0. 003
A4 7 XK A(IBP) (mg/L) <0.0009| <0.0009| <0.0009| <0.0009 4| <0.0009  <0.0009| <0.0009
A4 2 7 7 & ¥ v (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
A4 ¥ KX /7 7 7 ¥ (mg/L)| <0.00009 <0.00009 <0.00009 <0.00009 4| <0.00009| <0.00009 <0.00009
— X 7 v H 7 (mg/L)| <0.0003  <0.0003 ~ <0.0003| <0.0003 4| <0.0003| <0.0003  <0.0003
= N 7 = ¥ 7 ma v 7 A (mg/L)| <0.0008 <0.0008  <0.0008 <0.0008 4| <0.0008| <0.0008/ <0.0008
TURZNNT 7o (R ) (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001 4 <0.0001| <0.0001| <0.0001
F F ¥ ¥ 7 g R A (mg/L)| <0.0002 <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
T X > 8 (A ¥ 8 ) (ng/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
= U B X k2 B ¥ (mg/L)

Vil z B N A (mg/L) | €0.000006| <0.000006| <0. 000006/ <0.000006 4| <0. 000006 <0. 000006/ <0. 000006
B 7 x= ¥ A kv — JL (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
Vi % i > 7 (mg/L) <0.001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
B N U b (N A C ) (mg/L)| <0.0003 <0.0003| <0.0003 <0.0003 4| <0.0003| <0.0003| <0.0003
77 Y Z > (mg/L) [ <0.000003 <0.000003  <0.000003| <0. 000003 4| <0.000003| <0.000003| <0. 000003
¥ /7 732 (A CN ) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005/ <0.00005
% x - i v (mg/L) <0. 003 <0. 003 <0. 003 <0.003 4 <0. 003 <0. 003 <0. 003
Y S 1% =d > (mg/L) | <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
v U AN B —  (mg/L) 0. 02 0. 02 €0. 02 0. 02 4 <0. 02 <0. 02 <0. 02
7 v R Y 3% — b (mg/L)| <0.0002 <0.0002  <0.0002 ~ <0.0002 4| <0.0002| <0.0002|  <0.0002
7 o m A 7 v v 7 (mg/L)| <0.0002  <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
sl =ra 7= (CNP) (mg/L)| <0.0001 <0.0001  <0.0001| <0.0001 4 <0.0001| <0.0001| <0.0001
7 m b B U R A (mg/L)[| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
smua o=/, (TPN) mL)|[ <0.0005 <0.0005 <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
D4 7 > D4 > (mg/L) | <0.00001| <0.00001 <0.00001| <0.00001 4| <0.00001| <0.00001| <0.00001
> 7 J A A (CY AP ) (mg/L)| <0.00003 <0.00003 <0.00003| <0.00003 4| <0.00003| <0.00003 <0.00003
v nra Yy (DCMU ) (mg/L)| <0.0002 <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
Y7 X=)(DBN) (mg/lL) <0.0003| <0.0003| <0.0003| <0.0003 4/ <0.0003| <0.0003  <0.0003
7 ma )R A (DDVP) (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
¥ 7 1Z D k (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AR I (= F )V F A ARL) (mg/L) | <0.00004| <0.00004| <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
CFF I N A— R A (ng/L)

D% I 7 | JL (mg/L) | <0.00009 <0.00009| <0.00009 <0.00009 4 <0.00009| <0.00009| <0.00009
oo m ok vy 7 7 F b (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006/ <0.00006
v o= ¥ v (. C A T ) (mg/L)| <0.00003 <0.00003 <0.00003| <0.00003 4| <0.00003| <0.00003 <0.00003
v X X A Kk U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4/ <0.0002| <0.0002|  <0.0002
D% A K - — ~ (mg/L) | <0.0005  <0.0005/ <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
¥ A k D) > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
v A T D4 J > (mg/L) | <0.00003| <0.00003| <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
v A VN i v (mg/L) <0.008 <0.008 <0.008|  <0.008 4 <0. 008 <0. 008 <0. 008
AN AR NI —23 ) e OAF (ng/L)

A FFT T F—h
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s 5 7 10 2 E R RIE P

EHH

S e ¥ = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
SF 7 S 2 (mg/L) | <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002|  <0.0002
F 4 ¥ J b 7 (mg/L)| <0.0008  <0.0008  <0.0008  <0.0008 4| <0.0008| <0.0008  <0.0008
F A 7 7 — K A F )L (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
F & N v v 7 (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 7 U v b U F v (mg/L)

T T AT (MBPMC) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
[N ) V4 =4 = JL (mg/L) | <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
FY Zwma k> (DEP) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
U Yy Z T — b (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
KU 7 o Z U v (mg/L)| <0.0006/ <0.0006 ~ <0.0006  <0.0006 4| <0.0006| <0.0006/ <0.0006
7+ A = A N R (mg/L) | <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A = = — k (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
= ~ =4 IR A (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
= v 7 = = JL (mg/L) | <0.0001  <0.0001| <0.0001 <0.0001 4 <0.0001| <0.0001| <0.0001
7 Y ¥ ¥ 7 = » (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
IV YR —hk (YL —hK) (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
U X 7 = v F F  (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
vy 7 F H v 7 (mg/L)| <0.0002] <0.0002 ~ <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
= =4 ¥ = > (mg/L) | <0.0005 <0.0005 ~ <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 € A = = JL (mg/L) | <0.000005| <0.000005 <0.000005 <0.000005 4| <0.000005| <0.000005| <0. 000005
Zx=hruaF At (MEP) @mg/)| <0.0001 <0.0001  <0.0001 <0.0001 4| <0.0001| <0.0001| <0.0001
7 /)7 H)L T (BPMC) (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 = ) N > > (mg/L) | <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 xr F A (MPP) (mg/L)| <€0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
7z — K (PAP) (mg/L)| <€0.00007 <0.00007 <0.00007 <0.00007 4| <0.00007| <0.00007 <0.00007
7 = v b T F I K (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001 4 <0.0001| <0.0001| <0.0001
7 A = A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 % 4 = — JL (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 vl g 7N Z (mg/L) | <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 7 um 7 = ¥ v (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 v 7 ¥ A (mg/L)| <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
7 v F T 7 v — Jb (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
- =] D4 =4 K > (mg/L) <0.0009| <0.0009  <0.0009| <0.0009 4/ <0.0009| <0.0009  <0.0009
7 n F A4 AR A (mg/L)| <0.00007 <0.00007 <0.00007 <0.00007 4| <0.00007| <0.00007 <0.00007
7 m v =2 Y — b (mg/L)| <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
A = = A N K (mg/L) | <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 v X S Y — ) (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003  <0.0003| <0.0003
7 =i £ 7 I K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J R JL (mg/L) | <0.0002]  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
~ Nz 2 4 = v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
N v Y v v 7 v v (mg/L)| <0.0009 <0.0009  <0.0009  <0.0009 4| <0.0009| <0.0009| <0.0009
~N v Y 7 = F w7 (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
~ v i ' > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N T 4 A KX U v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
~N T Z JL 7 (mg/L) | <0.0002| <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
N7 (X2 ) (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001 4| <0.0001| <0.0001| <0.0001
~N v 7 L & — b (mg/L)| <0.0007 <0.0007  <0.0007  <0.0007 4| <0.0007| <0.0007,  <0.0007
A A F 7 £ — b (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
~ 7 F A (~F Y ) (mg/l) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
Aa 7 uay 7 (MCPP) (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
A Y S JL (mg/L) | <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A A 7 % > )L (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
AF X F F > (DMTP) (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
A K~ I J A b m B ¥ (ng/L)| <0.0004 <0.0004  <0.0004  <0.0004 4 <0.0004| <0.0004| <0.0004
A k ) 7 ¥ > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A 7 = F v b (mg/L) <0.0002| <0.0002  <0.0002| <0.0002 4 <0.0002| <0.0002  <0.0002
A A =4 = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
S D) s — ~ (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
=3 $E $H  (mg/L) <1 <1 <1 <1 4 <1 <1 <1
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4) PrrhIEAR M 54 ) KGR KR K

Bttt A A S 34 [ AR e KA K (Z0D 1)
A

i 4 5 6 7 8 9
i 0 0 0 0 0 0
— ik i B (CFU/ml) A 0 0 0 0 0 0
¥ 0 0 0 0 0 0

54 = = = = = =

X i B AKX = = - - - -

¥ = = = = = -
4 0. 003 0. 005 0.006/  0.004/  0.008 0. 008
w kO F o b A& B (mg/L) H&IE| <0.001  <0.001 <0.001 <0.001 <0.001  <0.001
SEFJ| <0.001]  <0.001 0.001  <0.001 0. 001 0. 002
54 0. 03 <0. 03 <0.03 <0.03 <0. 03 <0. 03
% kK O £ o & A& ¥ (ng/l) &K <0. 03 <0. 03 <0. 03 <0. 03 0. 03 <0.03
¥ <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03
54 0.001| <0.001 <0.001 <0.001 <0.001  <0.001
v v H U KR RNEOAE YW (g/L) K[ <0.001 <0.001  <0.001 <0.001| <0.001  <0.001
SEHJ| <0.001]  <0.0010  <0.001  <0.001 <0.001 <0.001
4] 16. 1 13. 4 12.7 13. 4 12.9 10.7
B b W A % v (mg/L) HAX 12.2 9.5 10. 3 8.3 6.5 9.6
) 14.1 11.2 11.3 9.9 9.7 10. 1
54 0.9 0.8 0.8 0.8 0.9 0.9
H 3 L7 (ToC)  (mg/L) &K 0.7 0.6 0.6 0.7 0.6 0.6
) 0.8 0.7 0.7 0.7 0.7 0.8
54 7.57 7.66 7.59 7.63 7.62 7. 64
pH & 52l 7.50 7.54 7.50 7.52 7.50 7.52
) 7.53 7.58 7.54 7.56 7.54 7.56
ok HHRL RERL RERL RERL RELRL BERL
7 = BERL RELAL RELRL AL BRERL BERL
B <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
s 523 (B) | FAE 0.5 0.5 0.5 0.5 <0.5 0.5
¥ <0.5 <0.5 <0.5 <0.5 0.5 0.5
B 0. 02 0. 02 0.03 0.01 0.01 0. 04
¥ B (B5) | &R <0.01 <0. 01 <0. 01 <0. 01 <0.01 <0. 01
) <0. 01 <0. 01 <0. 01 <0. 01 0. 01 0.01
§ﬁ 54 0. 80 0.79 0.81 0.79 0.77 0.81
m | #E % B O F (mg/l) | ®IE 0.59 0. 47 0.41 0.36 0. 27 0. 49
H STy 0. 69 0. 69 0.63 0.63 0. 60 0.64
o 54 0. 85 0. 84 0. 85 0. 84 0.81 0. 87
w |7 o i #  (mg/L) HIK 0. 65 0. 54 0. 47 0.42 0.35 0.54
i FH 0.75 0.73 0. 68 0.69 0. 66 0.70
WA K % KMo, W O = ) (mg/L) 0.8 0.5 1.0 0.8 1.0 0.5
54 19.2 22.0 25.7 30. 1 30. 5 29. 9
7K b (C) I 15.7 18.5 21.5 25.0 25.0 24.5
) 17.2 20.0 23.9 27.0 27.9 27.1
54 37.0 38.3 41.4 34.8 35.2 39.2
7 b o) U B (mg/L) &K 30. 1 30.8 31.8 29.8 25.8 31.4
- ) 32.7 33.7 34.3 32.9 31.6 33.8
1S B (mg/L) 2.0 1.7 1.7 1.4 2.9 1.9
i Pz Jig = #  (mg/L) 1.15 0.97 0.58 0.83 0.93 0. 59
fip |t Fi% A 7 > (mg/L) 20. 2 17.9 15.8 16.3 22.4 19. 4
oo ¥ v A O (mg/L) 31 29 28 25 30 27
~ 7 X ¥ v A i E  (ng/L) 9 8 8 7 9 7
54 18.3 17.8 17.5 18.3 17.9 16.2
g B & H o S/m) AE 15. 4 13.7 14.6 14.1 12.8 15. 4
) 16.2 15. 4 15.7 15.2 15.3 15.7
A 17 fi5 %  (mg/L) 8.7 9.6 8.8 8.3 6.9 8.2
B 54 0.036/  0.032 0. 032 0.030  0.035 0. 036
%4 B O’ e RAE|  0.027)  0.024)  0.024]  0.027  0.024  0.022
) 0.032 0.028 0.028 0.028 0.028 0. 028
A B oo~ o F v i E  (mg/l) 0.034/ 0.029] 0.039] 0.054  0.045 0. 033
WO oo (¥ ) (mg/L) 0. 001 0. 001 0.001 <0.001 <0.001] <0.001

7 ) 7 K AR U ¥ v A (fH/20L) 0 0
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10 11 12 1 2 3 1% ®E A% Hy
0 0 0 0 0 0
0 0 0 0 0 0 96 0 0 0
0 0 0 0 0 0
— — — — — — 96 — — —
0.005  0.004] 0.003  0.003] 0.002  0.003
<0.001  <0.001 <0.001 <0.001  <0.001 <0.001 96 0.008 <0.001| <0.001
0.001  <0.001| <0.001| <0.001 <0.001 <0.001
<0.03  <0.03] <0.03  <0.03 0.06  <0.03
<0.03  <0.03] <0.03  <0.03] <0.03  <0.03 96 0.06/  <0.03  <0.03
<0.03  <0.03] <0.03  <0.03] <0.03  <0.03
<0.001 <0.001 <0.001  <0.001 0.002  <0.001
<0.001  <0.001 <0.001 <0.001 <0.001 <0.001 96 0.002) <0.001| <0.001
<0.001  <0.001| <0.001 <0.001 <0.001 <0.001
15. 6 16.4 16.8 21.8 16.3 16.4
13.2 15. 1 15. 1 15.7 15.4 11.7 96 21.8 6.5 13.3
14.2 16. 0 15.8 17. 1 15.9 14.8
0.9 1.0 0.9 0.9 0.9 0.9
0.7 0.8 0.8 0.7 0.7 0.7 96 1.0 0.6 0.8
0.8 0.8 0.9 0.8 0.8 0.8
7. 60 7. 60 7.59 7. 60 7.57 7.58
7.49 7.50 7.52 7.47 7.48 7.53 96 7.66 7.47 7.55
7.55 7.56 7.55 7.53 7.53 7.55
Byl BEaL BERL BEAaL BAEAaL BAERL 96 HERL
Foa U BEa U BELR L BEARL AERL BERL 96 Rl
0.5 <0.5 0.5 0.5 <0.5 0.5
0.5 0.5 0.5 0.5 0.5 0.5 96 0.5 0.5 0.5
0.5 0.5 0.5 0.5 0.5 0.5
0. 02 0.03 0.03 0.01 0. 06 0.03
<0. 01 <0. 01 <0. 01 <0. 01 <0. 01 0.01 96 0.06/  <0.01 <0. 01
<0. 01 <0. 01 <0. 01 <0. 01 0. 02 0. 02
0.77 0.78 0. 80 0.77 0.81 0. 84
0. 42 0. 42 0. 54 0.63 0. 49 0.59 96 0. 84 0.27 0. 66
0.63 0.65 0. 69 0.70 0.71 0.72
0.83 0.83 0. 87 0. 82 0. 87 0. 89
0. 48 0. 48 0.63 0.71 0.55 0. 64 96 0. 89 0.35 0.72
0. 70 0.71 0.75 0.76 0.76 0.76
0.6 1.0 0.9 0.9 0.8 0.6 12 1.0 0.5 0.8
26. 2 21.0 16.5 11.6 10.5 14.5
21.4 17.0 11.4 8.6 8.1 8.5 96 30.5 8.1 19.4
24.5 18.8 14.5 10. 2 9.1 12.0
40. 2 39. 1 37.6 34.3 34.2 36. 1
35.5 36. 2 34. 4 31.2 31.6 32.5 96 41.4 25.8 34.2
37.0 37.0 36. 1 33.3 33.3 34.1
1.4 3.1 2.4 2.4 3.4 1.9 12 3.4 1.4 2.2
1.03 1.18 1.26 1. 20 1.24 0. 82 12 1.26 0. 58 0.98
19.6 21. 4 23.9 23.7 23. 4 19.3 12 23.9 15.8 20. 3
31 32 34 31 31 30 12 34 25 30
8 9 9 9 9 8 12 9 7 8
18.8 19.3 19.4 19.8 18.1 18.1
17.3 18.2 18.2 17.9 17.4 14.9 96 19.8 12.8 16.8
17.9 18.4 18.7 18.4 17.7 16.9
8.5 9.6 10. 8 12.4 13.0 12.1 12 13.0 6.9 9.7
0.042  0.034] 0.040/ 0.035 0.050  0.078
0.027  0.028/ 0.028  0.027  0.021 0. 022 96 0.078/  0.021 0. 030
0. 031 0.030  0.034  0.030] 0.030  0.035
0.048  0.051 0.063  0.031 0.034  0.052 12]  0.063  0.029  0.043
0. 001 0. 001 0. 001 0.001  <0.001] <0.001 12]  0.001  <0.001] <0.001
0 0 4 0 0 0
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4) PrrhAGEARZER 540 ) KGR e KR K

Bl e 7K 18 11> FE K%éaﬂli%kiﬂffwk*yk ZD2)
i 4 5 6 7 8 9
HRIT LK OCZEDWAE Y (ng/l) <0.0003] <0.0003| <0.0003 <0.0003| <0.0003 <0.0003
K E O E O b A B (ng/L) <0. 00005 <0. 00005 <0. 00005 <0. 00005| <0. 00005 <0. 00005
Lk OE DA W (ng/l) <0.001  <0.001| <0.001  <0.001 <0.001 <0.001
E#E K O FE O LA W (ng/l) <0.001  <0.001| <0.001  <0.001 <0.001 <0.001
N oM 7 v s fk A& W (ng/L) <0.002  <0.002| <0.002  <0.002| <0.002  <0.002
m o ® o = F (mg/D) <0.004  <0.004 <0.004  <0.004| <0.004  <0.004
ST Uk A Ay kLY T (mg/L) <0.001  <0.001| <0.001 <0.001 <0.001 <0.001
HEBEZEZRLOmMEBEEZEFE (ng/L) 1.15 0.97 0.58 0.83 0.93 0.59
7 v #FE K NEZE DA A W (ng/l) <0. 08 <0. 08 <0. 08 <0. 08 0.09  <0.08
U HE KO ZT 0 AW (ng/l) 0.1 0.1 0.1 0.1 0.1 0.1
g # e % % (mg/L) <0.0002/ <0.0002| <0.0002 <0.0002| <0.0002 <0.0002
L4 — ¥ 4 x ¥ (mg/l) <0.005  <0.005 <0.005 <0.005 <0.005  <0.005
‘f;;l’zzfl;fj;jjg;%e (mg/L) <0.004  <0.004 <0.004 <0.004 <0.004  <0.004

gl 27 m w2 & (mg/L) <0.002  <0.002| <0.002  <0.002| <0.002  <0.002
> F % /v o =xF L > (ng/l) <0.001  <0.001| <0.001 <0.001  <0.001 <0.001
kYU 7 B o = F L v (mg/l) <0.001  <0.001| <0.001  <0.001  <0.001 <0.001

e N £ v (mg/L) <0.001  <0.001| <0.001  <0.001 <0.001 <0.001

% i F e (mg/L) 0. 06 0.10 0.09 0. 06 0.08 0. 06
Vi = B W fe  (mg/L) <0.002 <0.002| <0.002  <0.002| <0.002  <0.002
7 = o A A A (mg/L) 0.002/  0.004  0.005  0.009  0.011 0. 006

H|lY 7 =t = K EE (mg/L) <0.003  <0.003 <0.003  0.004 <0.003  0.003
v 7 m w7 a2 % v (ng/l) 0.005/  0.004  0.004  0.006  0.011 0. 005
B ES e (mg/L) 0.004  0.001 0. 001 0. 001 0.003  0.001
wm o U N m A Z v (mg/L) 0.012  0.014] 0.014  0.023  0.037  0.017

SR Y y 7 v v O (ng/L) <0.003  <0.003| <0.003| <0.003 <0.003  <0.003
7 m ® Y/ vua A ¥ v (ng/l) 0.003  0.005  0.005| 0.008  0.013  0.006
7 n £ A& A A (mg/Ll) 0.002/  0.001 <0.001  <0.001 0.002  <0.001
A v A 7 A F v K (mg/l) <0.008  <0.008 <0.008  <0.008| <0.008  <0.008
B ot &k O F o kb A& B (mg/l) <0. 1 <0.1 0.1 <0. 1 0.1 0. 1
TNANVI=2UAEOBZEONEYW (ng/l) 0. 02 0.03 0.03 0.03 0.04 0.03
M & O = o b & B (mg/L) <0.1 <0.1 0.1 <0.1 0. 1 0. 1
T U T AR ZEDIAEY (g/L) 17. 4 13.2 12.0 11.5 17.2 13.0
AN T L~ SR A () (ng/L) 40 37 36 32 39 34
7R % % = ¥ (mg/L) 106 95 86 84 106 36
e 4 F > /A m & M Al (ng/L) <0. 02 <0. 02 <0. 02 0. 02 <0. 02 <0. 02
v o= 4+ = 3 v (ng/L) <1 <1 <1 <1 <1 <1
2-RXA F A YV ARNLFRF— 1 (ng/l) <1 <1 <1 <1 <1 <1
A4 A v R om o M A (mg/L) <0.005  <0.005/ <0.005 <0.005 <0.005  <0.005
7 - J — 4 fE (mg/L) <0.0005 <0.0005| <0.0005 <0.0005 <0.0005 <0.0005
TrrFEUEOPEDOAREYW (mg/L) <0. 002 <0. 002
7 7 v kO E oA W (mg/l) <0. 0002 <0. 0002
= H AV EXZEOAAEW (mg/l) <0. 002 <0. 002
L2- ¥ 7 v v = % > (mg/l) <0. 0004 <0. 0004
~ JL - v (mg/L) <0. 04 0. 04
TENLEBEY Q- F A ~F ) (mg/L) <0. 008 <0. 008

| # e 2 (mg/L) <0. 06 <0. 06

Bl 2 ma 7+ F=F YU i (ng/L) <0. 001 <0. 001

i ok 7 w7 — v (mg/l) <0. 002 0. 002

é B E's L) <1 <1

& | e e % (mg/L) 1.8 1.5 1.5 1.2 2.6 1.7

1w |1,1,1- U 7 v o= & > (mg/l) <0.03 0. 03

H|xAFL-t-FTF Lz —F L WMBE) (mg/L) <0. 002 <0. 002
R = G B (TON) 1 1 1 1 1 1
Z v 4y U 7T B %K -1.3 -1.3 -1.4 -1.4 -1.1 -1.3
e & £ ES Pt & (CFU/ml) 0 0
L1 — Y 7 mu=xJ L v (mglh <0.01 <0.01
)7 )Fa Ay 2 AR R (PFOS) (ng/L) <5 <5

KOV 7 A a s Z fg (PROS)
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10 11 12 1 2 3 [EIEq 4 533N RS

<0.0003] <0.0003| <0.0003| <0.0003] <0.0003 <0.0003 121 <0.0003| <0.0003| <0.0003
<0. 00005| <0. 00005 | <0. 00005 | <0. 00005 <0. 00005 <0. 00005 121 <0. 00005 | <0. 00005 | <0. 00005
<0.001 <0.001 <0.001 <0.001 <0.001| <0.001 12 <0.001 <0.001  <0.001
<0.001  <0.001 <0.001 <0.001 <0.001| <0.001 12 <0.001  <0.001  <0.001
<0.002  <0.002 <0.002 <0.002| <0.002| <0.002 12. <€0.002] <0.002 <0.002
<0.004  <0.004  <0.004  <0.004 <0.004| <0.004 12 <0.004 <0.004| <0.004
<0.001 <0.001 <0.001 <0.001 <0.001| <0.001 12 <0.001 <0.001 <0.001
1.03 1.18 1.26 1.20 1. 24 0.82 12 1.26 0.58 0.98
<0. 08 0.09  <0.08/ <0.08  <0.08  <0.08 12 0.09| <0.08  <0.08
0.1 <0. 1 0.1 <0.1 <0. 1 0.1 12 0.1 0.1 <0. 1
<0.0002 <0.0002| <0.0002| <0.0002 <0.0002 <0.0002 12| <0.0002 <0.0002 <0.0002
<0.005 <0.005 <0.005 <0.005 <0.005 <0.005 12 <0.005 <0.005  <0.005
<0.004| <0.004 <0.004 <0.004| <0.004| <0.004 12 <0.004 <0.004| <0.004
<0.002| <0.002 <0.002 <0.002| <0.002 <0.002 12 <0.002 <0.002 <0.002
<0.001| <0.001 <0.001 <0.001 <0.001 <0.001 12 <0.001 <0.001  <0.001
<0.001| <0.001 <0.001 <0.001 <0.001  <0.001 12 <0.001  <0.001  <0.001
<0.001| <0.001 <0.001 <0.001 <0.001 <0.001 12 <0.001 <0.001  <0.001
0.07  <0.06/ <0.06/ <0.06/  <0.06  <0.06 12 0.10| <0.06  <0.06
<0.002| <0.002 <0.002/ <0.002| <0.002 <0.002 12 <0.002] <0.002 <0.002
0.006/ 0.007  0.005  0.001| <0.001  0.004 12 0.011 <0.001|  0.005
<0.003 <0.003 <0.003 <0.003 <0.003 <0.003 12 0.004 <0.003 <0.003
0.007)  0.008  0.007  0.004 0.003  0.004 12 0.011  0.003  0.006
0.003]  0.002 <0.001  0.003  0.003 <0.001 12 0.004 <0.001  0.002
0.021) 0.026  0.020  0.008  0.006  0.013 12 0.037  0.006  0.018
<0.003 <0.003 <0.003 <0.003 <0.003 <0.003 12 <0.003 <0.003 <0.003
0.007)  0.009  0.006  0.002] 0.002  0.005 12 0.013  0.002]  0.006
0.001| 0.002  0.002  0.001  0.001 <0.001 12 0.002 <0.001  0.001
<0.008 <0.008 <0.008 <0.008 <0.008  <0.008 12 <0.008 <0.008 <0.008
<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0. 1 <0. 1
0.03 0.02 0. 02 0.02 0.02 0.02 12 0. 04 0.02 0.03
<0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 12 <0. 1 <0. 1 <0. 1
15. 6 16.9 17.7 16.3 16. 7 14.5 12 17.7 11.5 15. 2

39 41 43 40 40 38 12 43 32 38

101 104 109 105 104 95 12 109 84 98
<0.02] <0.02] <0.02| <0.02] <0.02  <0.02 12 <0.02] <0.02|  <0.02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1

<1 <1 <1 1 1 <1 12 1 <1 <1
<0.005 <0.005 <0.005  <0.005 <0.005  <0.005 12 <0.005 <0.005  <0.005
<0.0005 <0.0005 <0.0005 <0.0005| <0.0005 <0.0005 12, <0.0005 <0.0005 <0.0005
<0. 002 <0. 002 4] <0.002] <0.002] <0.002
<0. 0002 <0. 0002 4| <0.0002| <0.0002 <0.0002
<0. 002 <0. 002 4] <0.002| <0.002 <0.002
<0. 0004 <0. 0004 4| <0.0004| <0.0004| <0.0004
<0. 04 <0. 04 4 <0.04)  <0.04|  <0.04
<0. 008 <0. 008 4. <0.008 <0.008  <0.008
<0. 06 <0. 06 4] <0.06| <0.06/  <0.06
<0. 001 <0. 001 4 <0.001 <0.001 <0.001
<0. 002 <0. 002 4 0.002] <0.002 <0.002
<1 <1 4 <1 <1 <1

1.2 2.7 2.1 2.1 3.0 1.7 12 3.0 1.2 1.9

<0. 03 <0. 03 4 <0.03  <0.03  <0.03
<0. 002 <0. 002 4] <0.002| <0.002 <0.002
1 1 1 2 1 1 12 2 1 1

-1.2 -1.2 -1.3 -1.4 -1.5 -1.5 12 -1.1 -1.5 -1.3

0 0 4 0 0 0

<0. 01 <0. 01 4/ <0.01 <0. 01 <0. 01

6 7 4 7 <5 <5
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Pt AGE AR FE R R84 ) VARG RAG AR K (£D 3) FE3H

5 7 10 2 [=1%% B IR )
HH
1,3—y7mrura~X(D—D) @mg/L)| <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
22 —DPA (X 7&K ) (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D (24 — P A ) (mg/L)| <0.0002 <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
E P N (mg/L) | <0.00005 <0.00005| <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
M C P A (mg/L) | <0.0003 <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
T v = = 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
T +* 7 - — ~ (mg/L) | <0.0008  <0.0008| <0.0008  <0.0008 4| <0.0008| <0.0008|  <0.0008
7 k 7 4 > (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 = =4 N A (mg/L) | <0.00005/ <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
T N S = A (mg/L) | <0.0003  <0.0003  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 = 4 = — JL (mg/L) | <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
A4 Y F Y F A  (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
A4 Y 7 = ¥ A& A (mg/L)| <0.00003 <0.00003| <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
AV 7ahr7 (MIPC) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AV 7aFF 7 (IPT) mg/L) <0.003 <0.003 <0.003 <0.003 4 <0. 003 <0. 003 <0. 003
A4 7 XK A(IBP) (mg/L) <0.0009| <0.0009| <0.0009| <0.0009 4| <0.0009  <0.0009| <0.0009
A4 2 7 7 & ¥ v (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
A4 ¥ KX /7 7 7 ¥ (mg/L)| <0.00009 <0.00009 <0.00009 <0.00009 4| <0.00009| <0.00009 <0.00009
— X 7 v H 7 (mg/L)| <0.0003  <0.0003 ~ <0.0003| <0.0003 4| <0.0003| <0.0003  <0.0003
= N 7 = ¥ 7 ma v 7 A (mg/L)| <0.0008 <0.0008  <0.0008 <0.0008 4| <0.0008| <0.0008/ <0.0008
TURZNNT 7o (R ) (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001 4 <0.0001| <0.0001| <0.0001
F F ¥ ¥ 7 g R A (mg/L)| <0.0002 <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
T X > 8 (A ¥ 8 ) (ng/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
= U B X k2 B ¥ (mg/L)
Vil z B N A (mg/L) | €0.000006| <0.000006| <0. 000006/ <0.000006 4| <0. 000006 <0. 000006/ <0. 000006
B 7 x= ¥ A kv — JL (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
Vi % i > 7 (mg/L) <0.001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
B N U b (N A C ) (mg/L)| <0.0003 <0.0003| <0.0003 <0.0003 4| <0.0003| <0.0003| <0.0003
77 Y Z > (mg/L) [ <0.000003 <0.000003  <0.000003| <0. 000003 4| <0.000003| <0.000003| <0. 000003
¥ /7 732 (A CN ) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005/ <0.00005
% x - i v (mg/L) <0. 003 <0. 003 <0. 003 <0.003 4 <0. 003 <0. 003 <0. 003
Y S 1% =d > (mg/L) | <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
v U AN B —  (mg/L) 0. 02 0. 02 €0. 02 0. 02 4 <0. 02 <0. 02 <0. 02
7 v R Y 3% — b (mg/L)| <0.0002 <0.0002  <0.0002 ~ <0.0002 4| <0.0002| <0.0002|  <0.0002
7 o m A 7 v v 7 (mg/L)| <0.0002  <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
sl =ra 7= (CNP) (mg/L)| <0.0001 <0.0001  <0.0001| <0.0001 4 <0.0001| <0.0001| <0.0001
7 m b B U R A (mg/L)[| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
smua o=/, (TPN) mL)|[ <0.0005 <0.0005 <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
D4 7 > D4 > (mg/L) | <0.00001| <0.00001 <0.00001| <0.00001 4| <0.00001| <0.00001| <0.00001
> 7 J A A (CY AP ) (mg/L)| <0.00003 <0.00003 <0.00003| <0.00003 4| <0.00003| <0.00003 <0.00003
v nra Yy (DCMU ) (mg/L)| <0.0002 <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
Y7 X=)(DBN) (mg/lL) <0.0003| <0.0003| <0.0003| <0.0003 4/ <0.0003| <0.0003  <0.0003
7 ma )R A (DDVP) (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
¥ 7 1Z D k (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AR I (= F )V F A ARL) (mg/L) | <0.00004| <0.00004| <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
CFF I N A— R A (ng/L)
D% I 7 | JL (mg/L) | <0.00009 <0.00009| <0.00009 <0.00009 4 <0.00009| <0.00009| <0.00009
oo m ok vy 7 7 F b (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006/ <0.00006
v o= ¥ v (. C A T ) (mg/L)| <0.00003 <0.00003 <0.00003| <0.00003 4| <0.00003| <0.00003 <0.00003
v X X A Kk U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4/ <0.0002| <0.0002|  <0.0002
D% A K - — ~ (mg/L) | <0.0005  <0.0005/ <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
¥ A k D) > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
v A T D4 J > (mg/L) | <0.00003| <0.00003| <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
v A VN i v (mg/L) <0.008 <0.008 <0.008 <0.008 4 <0. 008 <0. 008 <0. 008
AR, fﬁA‘(iJ—/*‘A)&U“%% (ng/L)
A FFT T F—h
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s 5 7 10 2 E R RIE P

EHH

S e ¥ = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
SF 7 S 2 (mg/L) | <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002|  <0.0002
F 4 ¥ J b 7 (mg/L)| <0.0008  <0.0008  <0.0008  <0.0008 4| <0.0008| <0.0008  <0.0008
F A 7 7 — K A F )L (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
F & N v v 7 (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 7 U v b U F v (mg/L)

T T AT (MBPMC) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
[N ) V4 =4 = JL (mg/L) | <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
FY Zwma k> (DEP) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
U Yy Z T — b (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
KU 7 o Z U v (mg/L)| <0.0006/ <0.0006 ~ <0.0006  <0.0006 4| <0.0006| <0.0006/ <0.0006
7+ A = A N R (mg/L) | <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A = = — k (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
= ~ =4 IR A (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
= v 7 = = JL (mg/L) | <0.0001  <0.0001| <0.0001 <0.0001 4 <0.0001| <0.0001| <0.0001
7 Y ¥ ¥ 7 = » (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
IV YR —hk (YL —hK) (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
U X 7 = v F F  (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
vy 7 F H v 7 (mg/L)| <0.0002] <0.0002 ~ <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
= =4 ¥ = > (mg/L) | <0.0005 <0.0005 ~ <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 € A = = JL (mg/L) | <0.000005| <0.000005 <0.000005 <0.000005 4| <0.000005| <0.000005| <0. 000005
Zx=hruaF At (MEP) @mg/)| <0.0001 <0.0001  <0.0001 <0.0001 4| <0.0001| <0.0001| <0.0001
7 /)7 H)L T (BPMC) (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 = ) N > > (mg/L) | <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 xr F A (MPP) (mg/L)| <€0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
7z — K (PAP) (mg/L)| <€0.00007 <0.00007 <0.00007 <0.00007 4| <0.00007| <0.00007 <0.00007
7 = v b T F I K (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001 4 <0.0001| <0.0001| <0.0001
7 A = A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 % 4 = — JL (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 vl g 7N Z (mg/L) | <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 7 um 7 = ¥ v (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 v 7 ¥ A (mg/L)| <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
7 v F T 7 v — Jb (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
- =] D4 =4 K > (mg/L) <0.0009| <0.0009  <0.0009| <0.0009 4/ <0.0009| <0.0009  <0.0009
7 n F A4 AR A (mg/L)| <0.00007 <0.00007 <0.00007 <0.00007 4| <0.00007| <0.00007 <0.00007
7 m v =2 Y — b (mg/L)| <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
A = = A N K (mg/L) | <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 v X S Y — ) (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003  <0.0003| <0.0003
7 =i £ 7 I K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J R JL (mg/L) | <0.0002]  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
~ Nz 2 4 = v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
N v Y v v 7 v v (mg/L)| <0.0009 <0.0009  <0.0009  <0.0009 4| <0.0009| <0.0009| <0.0009
~N v Y 7 = F w7 (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
~ v i ' > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N T 4 A KX U v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
~N T Z JL 7 (mg/L) | <0.0002| <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
N7 (X2 ) (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001 4| <0.0001| <0.0001| <0.0001
~N v 7 L & — b (mg/L)| <0.0007 <0.0007  <0.0007  <0.0007 4| <0.0007| <0.0007,  <0.0007
A A F 7 £ — b (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
~ 7 F A (~F Y ) (mg/l) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
Aa 7 uay 7 (MCPP) (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
A Y S JL (mg/L) | <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A A 7 % > )L (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
AF X F F > (DMTP) (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
A K~ I J A b m B ¥ (ng/L)| <0.0004 <0.0004  <0.0004  <0.0004 4 <0.0004| <0.0004| <0.0004
A k ) 7 ¥ > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A 7 = F v b (mg/L) <0.0002| <0.0002  <0.0002| <0.0002 4 <0.0002| <0.0002  <0.0002
A A =4 = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
S D) s — ~ (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
=3 $E $H  (mg/L) <1 <1 <1 <1 4 <1 <1 <1
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5) TP L T ERHRIKKRIK (it sem )11 A5 B O B35 40 1 L BT A AR A
PR TERIEKEK (D 1)

_N

H
IHH

e 0 0 0 0 0 0
. i 0 B (CFU/ml) %A%
F) 0 0 0 0 0 0

I . - . - .
RIE| - - - - - -
Tl - - - - - -

R iz

BB

fxE|  <0.0010 <0.001) <0.001 <0.001 <0.001  <0.001

& &k O F o b & W (mg/L) &AK| <0.001 <0.001| <0.001 <0.001| <0.001  <0.001
SEEJ| <0.001)  <0.001  <0.001  <0.001| <0.001| <0.001
b4 <0. 03 <0.03 <0. 03 <0.03 <0. 03 <0. 03
g Kk O & o b & ¥ (ng/L) &K <0. 03 <0.03 <0. 03 <0.03 <0. 03 <0. 03

Sy <0.03 <0.03 <0.03 <0.03 <0.03 <0. 03

fxE|  <0.0010 <0.001) <0.001 <0.001 <0.001  <0.001
v~ v H kO EOAAA YW (mg/L) &Kl <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
SE¥I| <0.0010 <0.001  <0.001 <0.001 <0.001  <0.001

B 16.1 12.9 11.5 13.4 13.6 11. 0
B b B A % v (mg/L) | i 14.0 9.7 10.8 8.8 9.1 10.3
-8 15.0 11.3 11.2 11.1 11.4 10. 6
a4 0.9 0.8 0.8 0.8 0.8 0.8
H B L] (Toc)  (mg/L) i 0.8 0.7 0.7 0.7 0.6 0.7
S 0.8 0.8 0.8 0.8 0.7 0.8
b q] 7.56 7.58 7.52 7.55 7.60 7.60
pH ([ A% 7.54 7.55 7.51 7.53 7.55 7.53

SE) 7.55 7.56 7.52 7.54 7.58 7.56

S Rele L B U BERL BER L BRERL BREeL
= Harle U Buse U BEe L B L Bl BEL

w5 0.5 <0.5 0.5 <0.5 <0.5 <0.5

& B () | RIK 0.5 0.5 0.5 0.5 <0.5 0.5
) 0.5 <0.5 0.5 0.5 0.5 <0.5
i <0.01 0.01 <0. 01 0.02|  <0.01 <0. 01
b () &K <0.01 <0. 01 <0. 01 <0.01 <0. 01 <0. 01
| <0.01 <0.01 <0. 01 0.01 <0. 01 <0. 01
é’% b a] 0.77 0.74 0.83 0.75 0.75 0.73
wm | B & 8 F g/l K 0.73 0.73 0.70 0.63 0. 68 0.72
H S 0.75 0.74 0.76 0. 69 0.72 0.72
" s 0.83 0. 81 0. 88 0. 80 0.79 0.78
& (7% o i} F  (mg/l) &IK 0.77 0.79 0.77 0. 70 0.73 0. 76
s D) 0. 80 0. 80 0.82 0.75 0.76 0. 77
TlE B s ®mo, M OB B ) (mg/L) 0.8 0.5 1.0 0.9 0.8 0.5
s 19. 4 20. 2 25.2 29.3 30. 2 26. 6
7K w0 K 17.7 20. 2 23.2 26. 4 27.0 26. 1
S 18.6 20. 2 24. 2 27.8 28.6 26. 4
b q 34.2 32.8 31.8 31.0 32.1 30.3
7 IV Vel J B (mg/L) | I 33.2 29.1 30. 2 28.0 27.6 29. 8
. S 33.7 31.0 31.0 29.5 29.8 30.0
i3 E (mg/L) 1.5 1.5 1.7 1.3 2.4 1.9
i [ e = F#F  (mg/L) 1.08 0.94 0.55 0.73 0. 87 0.54
i it i3 A 5 v (mg/L) 19.8 17. 4 14.7 15.9 20. 2 17.9
B ¥ v A f FE (mg/L) 31 29 28 25 30 27
~ 7 3 ¥ v A f#H E  (ng/L) 9 8 8 7 9 7
- a4 17.7 15.9 15. 2 16.7 16.9 14.8
“|E & = L K (mS/m) | A 16.3 13.4 14. 1 13.6 13.2 14. 6
S 17.0 14.6 14.6 15.2 15.0 14.7
= 17 fi% #  (mg/L) 9.5 8.9 8.3 8.5 7.2 8.1
H a4 0. 037 0. 031 0.038 0. 036 0. 035 0. 032
s B ® Sk i3 K| 0.033  0.029  0.038)  0.029  0.027  0.028
S|l 0.0350  0.030)  0.038  0.032)  0.031 0. 030
L o~ v F v oW B (mg/L) 0. 044 0. 038 0. 053 0. 048 0. 041 0. 036
#O% s E (B OE ) (ng/l) 0.001 0. 001 0.001 0.001| <0.001 0. 001

7 UV 7 b AR U Y U A (E/20L) 0 0
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10 11 12 1 2 3 =13 i 5EIEN bS]
0 0 0 0 0 0
0 0 0 0 0 0 24 0 0 0
0 0 0 0 0 0
— — — — — — 24 — — —
<0.001| <0.001| <0.001 <0.001 <0.001  <0.001
<0.001| <0.001| <0.001 <0.001 <0.001  <0.001 24| <0.001| <0.001  <0.001
<0.001| <0.001| <0.001 <0.001 <0.001  <0.001
<0.03] <0.03] <0.03] <0.03/ <0.03  <0.03
<0.03] <0.03| <0.03  <0.03/ <0.03  <0.03 24| <0.03  <0.03] <0.03
<0.03] <0.03| <0.03  <0.03/ <0.03  <0.03
<0.001| <0.001| <0.001 <0.001 <0.001  <0.001
<0.001| <0.001| <0.001 <0.001 <0.001  <0.001 24| <0.001| <0.001  <0.001
<0.001| <0.001| <0.001 <0.001  <0.001  <0.001
14. 4 16.0 15.9 21.0 16.3 15.0
14.0 15. 4 14.6 15.9 15.9 12.3 24 21.0 8.8 13.6
14.2 15.7 15.2 18. 4 16. 1 13.6
0.9 0.9 0.9 0.8 0.9 0.8
0.8 0.9 0.9 0.8 0.7 0.7 24 0.9 0.6 0.8
0.8 0.9 0.9 0.8 0.8 0.8
7.52 7.56 7.52 7.55 7.52 7.48
7.51 7.49 7.52 7. 50 7.51 7.48 24 7. 60 7.48 7.53
7.52 7.52 7.52 7.52 7.52 7.48
Wl gl BELL BELL | BRERL BRELL 24 HE L
B U B U Bl Byl Byl Byl 24 Bl
<0.5 0.5 <0.5 0.5 <0.5 0.5
<0.5 0.5 <0.5 0.5 <0.5 0.5 24 0.5 <0.5 0.5
<0.5 0.5 <0.5 0.5 <0.5 0.5
0.02  <0.01  <0.01 0. 02 0. 03 0.03
<0.01  <0.01  <0.01  <0.01 0.01 0. 02 24 0.03  <0.01  <0.01
0.01  <0.01  <0.01 0.01 0. 02 0. 02
0.79 0.77 0. 80 0.79 0.82 0.83
0. 69 0.71 0.76 0.79 0.78 0.79 24 0.83 0.63 0.75
0.74 0.74 0.78 0.79 0. 80 0. 81
0. 85 0.83 0. 86 0. 84 0. 86 0. 88
0.75 0.78 0. 80 0. 84 0. 82 0.85 24 0. 88 0. 70 0. 81
0. 80 0. 80 0. 83 0. 84 0. 84 0. 86
0.7 1.0 0.9 0.8 0.8 0.7 12 1.0 0.5 0.8
26.2 19.7 14.1 10. 2 10.0 13.1
20. 4 17.0 12.6 9.0 9.5 9.7 24 30. 2 9.0 19.3
23.3 18. 4 13. 4 9.6 9.8 11. 4
33.4 36. 0 33.8 31.1 32.2 32.3
33.2 34.9 33.2 30. 8 29.9 32.0 24 36. 0 27.6 31.8
33.3 35.4 33.5 31.0 31.0 32.2
1.4 2.8 2.4 2.4 2.9 1.9 12 2.9 1.3 2.0
0.95 1.15 1.23 1.19 1.20 0.83 12 1.23 0. 54 0.94
18.1 21.1 22.5 23.5 22.9 19.0 12 23.5 14.7 19. 4
30 32 33 30 31 30 12 33 25 30
8 9 9 9 9 8 12 9 7 8
17.2 18.2 18.4 19.0 17.7 16. 4
16.9 17.8 17.9 17. 4 17.6 14.8 24 19.0 13.2 16.3
17.0 18.0 18.2 18.2 17.6 15.6
8.2 9.8 10.9 12.0 12.5 11.9 12 12.5 7.2 9.6
0.034/  0.040 0.038] 0.035  0.031  0.031
0.033  0.035  0.037  0.028  0.028  0.030 24/ 0.040  0.027|  0.033
0.034  0.038  0.038  0.032 0.030 0.030
0.045/ 0.051  0.052] 0.035  0.040|  0.054 12 0.054  0.035  0.045
0.001  0.001  0.001] 0.001] 0.001  0.001 12 0.001 <0.001 <0.001
0 0 4 0 0 0
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5) BFRIR L TR BRAEIKARIK (oot 320 18011 A B O B 08 4 S S TR A AR A

PP AR v T E R KKK (2D 2)

H

_ 4 5 6 7 8 9
BRIV AKR RZEDONREH (mg/L) <0.0003| <0.0003| <0.0003 <0.0003 <0.0003 <0.0003
K Kk Y o b & ¥ (mg/l) <0. 00005 <0. 00005 <0. 00005 | <0. 00005 | <0. 00005 | <0. 00005
L kO ZE O AE YW (ng/l) <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
b E K XN ZE O LA W g/l <0.001 <0.001| <0.001| <0.001 <0.001  <0.001
N ofli 7 v A b A& ¥ (ng/L) €0.002 <0.002 <0.002| <0.002 <0.002| <0.002
ifi fif [/ g #  (mg/L) <0.004| <0.004| <0.004 <0.004 <0.004| <0.004
YT A Ay RO ALY 7 > (mg/L) <0.001  <0.001| <0.001| <0.001  <0.001| <0.001
il e e e 8 K VAR fig MR B & K (mg/L) 1.08 0.94 0.55 0.73 0. 87 0. 54
7 v F R OZE O E W (g/L) 0. 09 0.09  <0.08 <0. 08 0. 09 <0. 08
KU FE KM OE O AW g/ 0.1 0.1 0.1 €0.1 0.1 <0.1
s} iy 1k R #  (mg/L) <0.0002| <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
L4 — ¥ 4 F Y (mg/l) <0.005  <0.005 <0.005/ <0.005 <0.005 <0.005
‘{;;1%2_1?_7;’;;;;;%9 (mg/L) <0.004| <0.004 <0.004 <0.004 <0.004  <0.004
Y s v m A X v (mg/L) <0.002  <0.002| <0.002  <0.002| <0.002  <0.002

= 5> K% 7 v r xF L > (mg/l) <0.001  <0.001| <0.001| <0.001  <0.001| <0.001
Y 7 momr = F L > (ng/l) <0.001  <0.001| <0.001| <0.001  <0.001  <0.001
~ g g > (mg/L) <0.001  <0.001| <0.001| <0.001  <0.001| <0.001

i F# iz (mg/L) <0.06  <0.06  <0.06 0. 06 0.08 0. 06
Vi = = i3 iz (mg/L) <0.002  <0.002| <0.002| <0.002  <0.002  <0.002
4 = =t A A (mg/L) 0.003/  0.005  0.008  0.009  0.009  0.007

WY 7 =t =t fE & (mg/L) <0.003  <0.003|  0.004| 0.004  0.005  0.004
v 7 v s vua A X (ng/l) 0.003/  0.004| 0.004  0.004  0.007  0.004
B F iz (mg/L) <0.001  <0.001| <0.001| <0.001  0.001| <0.001

gl U o~ m X7 (mg/l) 0.010/  0.014| 0.018  0.019  0.027  0.017
N U s om v EE O (mg/L) <0.003  <0.003|  0.003| <0.003 <0.003  <0.003
T mE Y v oRr XX v (ng/l) 0.004  0.005  0.006  0.006  0.009  0.006
v = £ A& A & (mg/L) <0.001  <0.001| <0.001| <0.001  0.002| <0.001
A v A T A F bR (ng/L) <0.008  <0.008| <0.008| <0.008 <0.008  <0.008
Mm% k& O o b A& % (mg/l) <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1
TNAI=UAERZO/LEY (g/l) 0. 02 0.03 0. 04 0. 04 0. 06 0. 04
M k& O = o b & W (mg/L) <0. 1 <0. 1 <0. 1 <0. 1 <0. 1 <0. 1
TRV T AR ZEDOAEY (mg/L) 15.5 12.9 1.1 10. 6 14.6 11.5
ANV T A TR N5 GEE)  (mg/L) 40 37 36 32 39 34
7 % % ® Y (mg/L) 90 91 71 78 99 89
ke A A v # om o iE M A (ng/L) <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
4 - 7+ 2 N v (ng/L) <1 <1 <1 <1 <1 1
- A F A JARNLFX A — I (ng/L) <1 <1 <1 <1 <1 <1
o4 A v Fom E M A (mg/L) <0.005/ <0.005/ <0.005 <0.005 <0.005  <0.005
7 - J = v ¥ (mg/L) <0. 0005 <0.0005| <0.0005 <0.0005 <0.0005 <0.0005
TrFEUVROZEOIREY (ng/l) <0. 002 <0. 002
7 7 v kO™ E O AE W (mg/l) <0. 0002 <0. 0002
= r NV EOZEOAEY (ng/l) <0. 002 <0. 002
L2- ¥ 7 v v = &% v (mg/L) <0. 0004 <0. 0004
~ L B v (mg/L) <0. 04 <0. 04
TZENLEY Q- F A ~F ) (mg/L) <0. 008 <0. 008

=D picy F Bz (mg/L) <0. 06 <0. 06

Ml 7 ow 7% k=F Y L (ng/l) <0. 001 <0. 001

Ej Bk 7 w7 = 2 (mg/l) <0. 002 <0. 002

= | S = <1 <1

i | Hfe R % (mg/L) 1.3 1.3 1.5 1.1 2.1 1.7

Hi,1,1- U 7 v or = Z > (mg/l) <0.03 <0.03

Hlx s -t-7F L= —F L MBE) (mg/L) <0. 002 <0. 002
R 0 G 22 (TON) 1 1 1 1 1 1
2R S B S - B ¢ -1.4 -1.3 -1.4 -1.4 -1.2 -1.3
e B % & M W (CFu/mD 0 0
Ll — Y 27 v L v (ng/l <0.01 <0.01
M e B e s ;
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10 11 12 1 2 3 b S glis T
<0.0003] <0.0003] <0.0003] <0.0003 <0.0003] <0.0003 12 <0.0003] <0.0003] <0.0003
<0. 00005 <0. 00005 | <0. 00005 | <0. 00005 <0. 00005 | <0. 00005 12| <0. 00005 <0. 00005| <0. 00005
<0.001] <0.001 <0.001 <0.001 <0.001  <0.001 12| <0.001 <0.001  <0.001
<0.001| <0.001 <0.001 <0.001| <0.001  <0.001 12| <0.001 <0.001  <0.001
<0.002] <0.002| <0.002| <0.002  <0.002| <0.002 12| <0.002  <0.002| <0.002
<0.004| <0.004] <0.004| <0.004 <0.004  <0.004 12| <0.004  <0.004  <0.004
<0.001] <0.001 <0.001 <0.001 <0.001  <0.001 12| <0.001 <0.001  <0.001

0.95 1.15 1.23 1.19 1.20 0.83 12 1.23 0.54 0.94

<0. 08 0.08 0.08] <0.08  <0.08  <0.08 12 0.09 <0.08  <0.08

<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 12 <0.1 <0.1 <0.1
<0.0002 <0.0002| <0.0002| <0.0002 <0.0002| <0.0002 12| <0.0002 <0.0002| <0.0002
<0.005  <0.005 <0.005 <0.005  <0.005 <0.005 12| <0.005  <0.005 <0.005
<0.004| <0.004| <0.004| <0.004 <0.004  <0.004 12| <0.004 <0.004  <0.004
<0.002)  <0.002| <0.002| <0.002  <0.002| <0.002 12| <0.002  <0.002| <0.002
<0.001| <0.001 <0.001 <0.001 <0.001  <0.001 12| <0.001 <0.001  <0.001
<0.001] <0.001] <0.001] <0.001  <0.001 <0.001 12| <0.001  <0.001] <0.001
<0.001| <0.001 <0.001 <0.001 <0.001  <0.001 12| <0.001 <0.001  <0.001
0.07| <0.06  <0.06  <0.06  <0.06  <0.06 12 0.08 <0.06  <0.06
<0.002| <0.002| <0.002| <0.002  <0.002| <0.002 12| <0.002  <0.002| <0.002

0.008/  0.005  0.004] 0.002  0.001  0.004 12| 0.009  0.001] 0.005

0.004| <0.003| <0.003| <0.003 <0.003| <0.003 12| 0.005 <0.003| <0.003

0.007  0.005  0.004] 0.004  0.003]  0.003 12| 0.007  0.003  0.004

0.001| <0.001 <0.001  0.002] 0.002 <0.001 12| 0.002 <0.001  <0.001

0.024| 0.017  0.012 0.010/ 0.008  0.011 12| 0.027  0.008  0.016
<0.003| <0.003| <0.003| <0.003  <0.003| <0.003 12| 0.003  <0.003| <0.003

0.008]  0.006/ 0.004] 0.003  0.003  0.004 12 0.009  0.003]  0.005

0.001] 0.001 <0.001  0.001  0.001 <0.001 12| 0.002 <0.001  <0.001
<0.008| <0.008] <0.008] <0.008  <0.008  <0.008 12| <0.008  <0.008  <0.008

<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 12 <0.1 <0.1 <0.1

0. 04 0.03 0.02 0.02 0.02 0.02 12 0. 06 0.02 0.03

<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 12 <0.1 <0.1 <0.1

14.0 15.6 15.7 15. 1 15.6 13.7 12 15.7 10.6 13.8

38 41 42 39 40 38 12 42 32 38
102 100 104 105 91 90 12 105 71 92
<0.02|  <0.02] <0.02  <0.02] <0.02|  <0.02 12| <€0.02  <0.02]  <0.02
<1 <1 <1 <1 <1 <1 12 <1 <1 <1

<1 <1 <1 1 <1 <1 12 1 <1 <1
<0.005  <0.005 <0.005 <0.005  <0.005  <0.005 12| <0.005  <0.005 <0.005
<0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 12| <0.0005 <0.0005 <0.0005
<0. 002 <0. 002 4 <0.002] <0.002] <0.002
<0. 0002 <0. 0002 4 <0.0002| <0.0002| <0.0002
<0. 002 <0. 002 4 <€0.002| <0.002| <0.002
<0. 0004 <0. 0004 4 <€0.0004 <0.0004 <0.0004
<0. 04 <0. 04 4 <0.04  <0.04  <0.04
<0. 008 <0. 008 4 <€0.008 <0.008  <0.008
<0. 06 <0. 06 4 <0.06  <0.06  <0.06
<0. 001 <0. 001 4 <€0.001| <0.001  <0.001
<0. 002 <0. 002 4 <€0.002| <0.002| <0.002
<1 <1 4 <1 <1 <1
1.2 2.5 2.1 2.1 2.6 1.7 12 2.6 1.1 1.8
<0. 03 <0. 03 4 <0.03| <0.03]  <0.03
<0. 002 <0. 002 4 <€0.002| <0.002| <0.002
1 1 1 2 1 1 12 2 1 1

-1.3 -1.3 -1.4 -1.5 -1.5 -1.6 12| -1.2 -1.6 -1.4
4 0 4 4 0 1

<0. 01 <0. 01 4 <0.01| <0.01  <0.01
7 7 4 7 <5 <5
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BPRIR  TERMGKERAK (2D 3) EEIE
JE

5 7 10 2 [=1%% B IR )
HH
1,3—y7mrura~X(D—D) @mg/L)| <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
22 —DPA (X 7&K ) (mg/l) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
24 — D (24 — P A ) (mg/L)| <0.0002 <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
E P N (mg/L) | <0.00005 <0.00005| <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
M C P A (mg/L) | <0.0003 <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
T v = = 2 (mg/L) <0. 009 <0. 009 <0. 009 <0. 009 4 <0. 009 <0. 009 <0. 009
T +* 7 - — ~ (mg/L) | <0.0008  <0.0008| <0.0008  <0.0008 4| <0.0008| <0.0008|  <0.0008
7 k 7 4 > (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
7 = =4 N A (mg/L) | <0.00005/ <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
T N S = A (mg/L) | <0.0003  <0.0003  <0.0003| <0.0003 4| <0.0003| <0.0003| <0.0003
7 = 4 = — JL (mg/L) | <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
A4 Y F Y F A  (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
A4 Y 7 = ¥ A& A (mg/L)| <0.00003 <0.00003| <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
AV 7ahr7 (MIPC) (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AV 7aFF 7 (IPT) mg/L) <0.003 <0.003 <0.003 <0.003 4 <0. 003 <0. 003 <0. 003
A4 7 XK A(IBP) (mg/L) <0.0009| <0.0009| <0.0009| <0.0009 4| <0.0009  <0.0009| <0.0009
A4 2 7 7 & ¥ v (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
A4 ¥ KX /7 7 7 ¥ (mg/L)| <0.00009 <0.00009 <0.00009 <0.00009 4| <0.00009| <0.00009 <0.00009
— X 7 v H 7 (mg/L)| <0.0003  <0.0003 ~ <0.0003| <0.0003 4| <0.0003| <0.0003  <0.0003
= N 7 = ¥ 7 ma v 7 A (mg/L)| <0.0008 <0.0008  <0.0008 <0.0008 4| <0.0008| <0.0008/ <0.0008
TURZNNT 7o (R ) (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001 4 <0.0001| <0.0001| <0.0001
F F ¥ ¥ 7 g R A (mg/L)| <0.0002 <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
T X > 8 (A ¥ 8 ) (ng/L) <0.0004| <0.0004| <0.0004| <0.0004 4| <0.0004| <0.0004| <0.0004
= U B X k2 B ¥ (mg/L)
Vil z B N A (mg/L) | €0.000006| <0.000006| <0. 000006/ <0.000006 4| <0. 000006 <0. 000006/ <0. 000006
B 7 x= ¥ A kv — JL (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
Vi % i > 7 (mg/L) <0.001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
B N U b (N A C ) (mg/L)| <0.0003 <0.0003| <0.0003 <0.0003 4| <0.0003| <0.0003| <0.0003
77 Y Z > (mg/L) [ <0.000003 <0.000003  <0.000003| <0. 000003 4| <0.000003| <0.000003| <0. 000003
¥ /7 732 (A CN ) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005/ <0.00005
% x - i v (mg/L) <0. 003 <0. 003 <0. 003 <0.003 4 <0. 003 <0. 003 <0. 003
Y S 1% =d > (mg/L) | <0.0003| <0.0003| <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
v U AN B —  (mg/L) 0. 02 0. 02 €0. 02 0. 02 4 <0. 02 <0. 02 <0. 02
7 v R Y 3% — b (mg/L)| <0.0002 <0.0002  <0.0002 ~ <0.0002 4| <0.0002| <0.0002|  <0.0002
7 o m A 7 v v 7 (mg/L)| <0.0002  <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
sl =ra 7= (CNP) (mg/L)| <0.0001 <0.0001  <0.0001| <0.0001 4 <0.0001| <0.0001| <0.0001
7 m b B U R A (mg/L)[| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
smua o=/, (TPN) mL)|[ <0.0005 <0.0005 <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
D4 7 > D4 > (mg/L) | <0.00001| <0.00001 <0.00001| <0.00001 4| <0.00001| <0.00001| <0.00001
> 7 J A A (CY AP ) (mg/L)| <0.00003 <0.00003 <0.00003| <0.00003 4| <0.00003| <0.00003 <0.00003
v nra Yy (DCMU ) (mg/L)| <0.0002 <0.0002  <0.0002| <0.0002 4| <0.0002| <0.0002|  <0.0002
Y7 X=)(DBN) (mg/lL) <0.0003| <0.0003| <0.0003| <0.0003 4/ <0.0003| <0.0003  <0.0003
7 ma )R A (DDVP) (mg/L)| <0.00008 <0.00008 <0.00008 <0.00008 4| <0.00008| <0.00008 <0.00008
¥ 7 1Z D k (mg/L) <0.0001| <0.0001| <0.0001| <0.0001 4| <0.0001| <0.0001| <0.0001
AR I (= F )V F A ARL) (mg/L) | <0.00004| <0.00004| <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
CFF I N A— R A (ng/L)
D% I 7 | JL (mg/L) | <0.00009 <0.00009| <0.00009 <0.00009 4 <0.00009| <0.00009| <0.00009
oo m ok vy 7 7 F b (mg/L)| <0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006/ <0.00006
v o= ¥ v (. C A T ) (mg/L)| <0.00003 <0.00003 <0.00003| <0.00003 4| <0.00003| <0.00003 <0.00003
v X X A Kk U v (mg/L) <0.0002| <0.0002| <0.0002| <0.0002 4/ <0.0002| <0.0002|  <0.0002
D% A K - — ~ (mg/L) | <0.0005  <0.0005/ <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
¥ A k D) > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
v A T D4 J > (mg/L) | <0.00003| <0.00003| <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
v A VN i v (mg/L) <0.008 <0.008 <0.008 <0.008 4 <0. 008 <0. 008 <0. 008
AR, fﬁA‘(iJ—/*‘A)&U“%% (ng/L)
A FFT T F—h

92




s 5 7 10 2 E R RIE P

EHH

S e ¥ = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
SF 7 S 2 (mg/L) | <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002|  <0.0002
F 4 ¥ J b 7 (mg/L)| <0.0008  <0.0008  <0.0008  <0.0008 4| <0.0008| <0.0008  <0.0008
F A 7 7 — K A F )L (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
F & N v v 7 (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 7 U v b U F v (mg/L)

T T AT (MBPMC) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
[N ) V4 =4 = JL (mg/L) | <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
FY Zwma k> (DEP) (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
U Yy Z T — b (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
KU 7 o Z U v (mg/L)| <0.0006/ <0.0006 ~ <0.0006  <0.0006 4| <0.0006| <0.0006/ <0.0006
7+ A = A N R (mg/L) | <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A = = — k (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
= ~ =4 IR A (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005| <0.00005 <0.00005
= v 7 = = JL (mg/L) | <0.0001  <0.0001| <0.0001 <0.0001 4 <0.0001| <0.0001| <0.0001
7 Y ¥ ¥ 7 = » (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
IV YR —hk (YL —hK) (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
U X 7 = v F F  (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
vy 7 F H v 7 (mg/L)| <0.0002] <0.0002 ~ <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
= =4 ¥ = > (mg/L) | <0.0005 <0.0005 ~ <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 € A = = JL (mg/L) | <0.000005| <0.000005 <0.000005 <0.000005 4| <0.000005| <0.000005| <0. 000005
Zx=hruaF At (MEP) @mg/)| <0.0001 <0.0001  <0.0001 <0.0001 4| <0.0001| <0.0001| <0.0001
7 /)7 H)L T (BPMC) (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 = ) N > > (mg/L) | <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 xr F A (MPP) (mg/L)| <€0.00006 <0.00006 <0.00006 <0.00006 4| <0.00006| <0.00006 <0.00006
7z — K (PAP) (mg/L)| <€0.00007 <0.00007 <0.00007 <0.00007 4| <0.00007| <0.00007 <0.00007
7 = v b T F I K (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001 4 <0.0001| <0.0001| <0.0001
7 A = A K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
7 % 4 = — JL (mg/L)| <0.0003  <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003|  <0.0003
7 vl g 7N Z (mg/L) | <0.0002| <0.0002| <0.0002|  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 7 um 7 = ¥ v (mg/L)| <0.0002 <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
7 v 7 ¥ A (mg/L)| <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
7 v F T 7 v — Jb (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
- =] D4 =4 K > (mg/L) <0.0009| <0.0009  <0.0009| <0.0009 4/ <0.0009| <0.0009  <0.0009
7 n F A4 AR A (mg/L)| <0.00007 <0.00007 <0.00007 <0.00007 4| <0.00007| <0.00007 <0.00007
7 m v =2 Y — b (mg/L)| <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
A = = A N K (mg/L) | <0.0005  <0.0005  <0.0005  <0.0005 4| <0.0005/ <0.0005  <0.0005
7 v X S Y — ) (mg/L) <0.0003| <0.0003| <0.0003| <0.0003 4| <0.0003  <0.0003| <0.0003
7 =i £ 7 I K (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
~ J R JL (mg/L) | <0.0002]  <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002| <0.0002
~ Nz 2 4 = v (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
N v Y v v 7 v v (mg/L)| <0.0009 <0.0009  <0.0009  <0.0009 4| <0.0009| <0.0009| <0.0009
~N v Y 7 = F w7 (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
~ v i ' > (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
N T 4 A KX U v (mg/L) <0. 003 <0. 003 <0. 003 <0. 003 4 <0. 003 <0. 003 <0. 003
~N T Z JL 7 (mg/L) | <0.0002| <0.0002  <0.0002  <0.0002 4| <0.0002| <0.0002|  <0.0002
N7 (X2 ) (mg/L) | <0.0001  <0.0001  <0.0001  <0.0001 4| <0.0001| <0.0001| <0.0001
~N v 7 L & — b (mg/L)| <0.0007 <0.0007  <0.0007  <0.0007 4| <0.0007| <0.0007,  <0.0007
A A F 7 £ — b (mg/L)| <0.00003 <0.00003 <0.00003 <0.00003 4| <0.00003| <0.00003 <0.00003
~ 7 F A (~F Y ) (mg/l) <0. 007 <0. 007 <0. 007 <0. 007 4 <0. 007 <0. 007 <0. 007
Aa 7 uay 7 (MCPP) (mg/L)| <0.0005 <0.0005  <0.0005  <0.0005 4| <0.0005| <0.0005  <0.0005
A Y S JL (mg/L) | <0.0003 <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A A 7 % > )L (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002
AF X F F > (DMTP) (mg/L)| <0.00004 <0.00004 <0.00004 <0.00004 4| <0.00004| <0.00004| <0.00004
A K~ I J A b m B ¥ (ng/L)| <0.0004 <0.0004  <0.0004  <0.0004 4 <0.0004| <0.0004| <0.0004
A k ) 7 ¥ > (mg/L) | <0.0003| <0.0003  <0.0003  <0.0003 4| <0.0003| <0.0003| <0.0003
A 7 = F v b (mg/L) <0.0002| <0.0002  <0.0002| <0.0002 4 <0.0002| <0.0002  <0.0002
A A =4 = JL (mg/L) <0. 001 <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001
S D) s — ~ (mg/L) | <0.00005 <0.00005 <0.00005 <0.00005 4| <0.00005 <0.00005 <0.00005
=3 $E $H  (mg/L) <1 <1 <1 <1 4 <1 <1 <1
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